

Pay Estimate Created Date: February 15, 2022

-	illiate Hallibei	Contract ID Prime Contractor	210219-0 APAC-C	G03 entral, Inc.		riod Start riod End	February 2, 2022 February 15, 2022		Original Contract Amount Net Change Order Amount Current Contract Amount		\$7,483,694.23 \$211,540.95 \$7,695,235.18		
Approval Date											By User		
February 17, 2022					Generated ar	nd Approved (a	nd should b	e considered I	Draft) at the F	Project Office Level by	LANEK ²		
February 17, 2022				Rev	ewed and Ap	proved (and sh	nould be cor	nsidered Draft)	at the Resid	ent Engineer Level by	LANEK ²		
February 18, 2022						Reviewed a	nd Approve	d at the Centra	al Office Cont	rollers Office Level by	ramses		
Original Con	pletion Date	Current Com	pletion Dat	Date Actual Completion Date					% of Cur	rent Contract Amount C	omplete		
December	r 15, 2021	15, 2021	1 December 15, 2021					94.04%					
	Contract Informationa	I Dates		Milestones									
Date Description	Original Completio	n Current Comp	letion	Date D	escription	Original C		Current Co Dat		Days Remaining on Milestone	Diary Charge Days		
Acceptance Date				Milestone -	Contractor	February 8,	February 8, 2022		2022	Milestone Comple	te		
Awarded Date	March 3, 2021	March 3, 2021		start									
Letting Date	February 19, 2021	February 19, 202	1										
Notice to Proceed Date	March 18, 2021	March 18, 2021											
Work Began Date	June 2, 2021	June 2, 2021											

Contract Total Pa	ay For Estimate No. 18				
		This Estimate	Previous	To Date	
210219-G03					
	Total Posted Items Pay	\$26,681.82	\$7,209,547.24	\$7,236,229.06	
	Gross Item Adjustments	\$292,691.08	\$418,235.93	\$710,927.01	
	Incentive	(\$313,043.92)	\$313,043.92	\$0.00	
	Disincentive	\$12,194.40	(\$12,194.40)	\$0.00	
	Liquidated Damage	\$0.00	\$0.00	\$0.00	
	Other Contract Adjustments	(\$12,194.40)	\$12,194.40	\$0.00	
			\$7,940,827.09	\$7,947,156.07	
Contract Total Pa	wahle This Estimate:	\$6 328 Q8			

Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
J7P3262	0141	6191000	PAVEMENT EDGE TREATMENT	LF	\$0.480	20,800	\$9,984.00
Project J7P3262 - Tota	al						\$9,984.00
J7P3263	1461	6191000	PAVEMENT EDGE TREATMENT	LF	\$0.380	43,941.63	\$16,697.82
Project J7P3263 - Tota	al						\$16,697.82
Overall - Total							\$26,681.82

verali - Total					\$20,001.02
ntract Adjustments This Estimate					
Adj Type	Entered By	Comments	Time Units	Rate	Amount
SPADIncentive	fielda4	Removal of previous payment for line 0210 lot 4 and 5 payfactors from estimate 0013. These bonuses have been paid as line item adjustments.			(\$18,247.2
TSRIncentive	fielda4	Removal of previous payment for lines 0210, 0960, 1500, 1510, and 1880 TSR adjustments from estimate 0016. These bonuses have been paid as line item adjustments.			(\$105,189.3
APTAIncentive	fielda4	Removal of previous payment for lines 0210, 1500, and 1880 CT and Hamburg bonuses from estimate 0016. These bonuses have been paid as line item adjustments.			(\$83,959.£
OTHROther Contract Adjustment	fielda4	Removal of previous payment made on estimate 0017. The disincentive this originally offset was a user-generated contract adjustment that has now been paid as a line item adjustment.			(\$12,194.4
AIDAIncentive	fielda4	Removal of previous payment for lines 0210, 1500, and 1880 elevated density bonuses from estimate 0016. These bonuses have been paid as line item adjustments.			(\$11,402.0
SPADIncentive	fielda4	Removal of previous payment for lines 0210, 0960, 1500, and 1880 asphalt payfactors from estimate 0016. These bonuses have been paid as line item adjustments.			(\$94,245.4
SPADDisincentive	fielda4	Removal of previous payment for lines 0210 and 1880 asphalt payfactors from estimate 0016.			\$12,194.4

Revision 4/1/2020 Page 1 of 29



Pro	gress	Estimate Number 18		tract ID ne Contracto	210219-G0 r APAC-Cer		Pay Period Start Pay Period End	February 2, 2022 February 15, 2022	Original Contract Net Change Orde Current Contract	r Amount	\$211,	3,694.23 540.95 5,235.18
	Adj 1	Гуре	En	tered By	These bor	Comments		Time Units	Rate		Amount	
rall - T	otal						djustments.					(\$313,043.9
Item A	djustn	nents This Estimate		These amou	nts are listed in t	he Incentive	, Disincentive, Liqu	idated Damages or Oth	ner Contract Adjustmen	ts		
oject	Line	Item Descrip		Adjustment	Other Item			Comments		Adjustment	Line Item	Adjustmer
mber	No.	·		Туре	Adjustment Type					Quantity	Adjustment Unit Price	amount
P3262	0210	ASPHALTIC CO MIXTURE PG 70-22		Other Item Adjustment	Other	For	asphalt IC laid from 1	0/15/2021 to 11/18/2021	See IC/IR summary in eProjects for details.			(\$3,736.2
	0210	ASPHALTIC CO MIXTURE PG 70-22		Other Item Adjustment	Other	For	asphalt IR laid from 1	0/15/2021 to 11/18/2021	See IC/IR summary in eProjects for details.			\$1,414.0
	0210	ASPHALTIC CO MIXTURE PG 70-22		Other Item Adjustment	Other			NB D	J7P3262 IRI Bonus et for further breakdown briving Lane: \$20,388.80 briving Lane: \$18,580.65			\$38,969.4
									Total: \$38,969.45			
	0210	ASPHALTIC CO MIXTURE PG 70-22		Other Item Adjustment	Other					\$29,775.2		
								Lot 1: Tons x .023 = \$4,820.80 SWTAL098 for specifics. Lot 2:				
								See 215	Lot 3: Fons x .039 = \$8,174.40 SWTAL099 for specifics.			
								3,764.58 Tons x \$52.40	SWTAL103 for specifics. /Tons x .05 = \$9,863.20			
	0210	ASPHALTIC CO	ONCRETE	Other Item	Other				SWTAL109 for specifics. P3262 TSR Adjustments			\$31,069.9
		MIXTURE PG 70-22	2 (SP095C MIX)	Adjustment				10,000 TONS x \$	Mix ID: SP095 21-59 TSR 96%): Bonus = 3% 52.4 x .03 = \$15,720.00 See Ident: 21SWTAL097			
								9764.58 TONS x \$	TSR 96%): Bonus = 3% 52.4 x .03 = \$15,349.92 See Ident: 21SWTAL105			
	0210	ASPHALTIC CO MIXTURE PG 70-22		Other Item Adjustment	Other	170000	Overlife in a Overlands		Line Item 0210: P 8.0 Elevated Density:			\$5,764.0
						J/P3262	2 Qualifying Sublots:	1A, 1C, 1D, 2B, 2D, 3A,	Bonus = 1%			
								11,000 TONS x See Asphalt Core Data f	\$52.4 x .01 = \$5,764.00			
	0210	ASPHALTIC CO		Other Item Adjustment	Other), 4.0 Ideal CT and Haml	Line Item 0210:			\$31,069.9
			MIX)	,				Lots 1A-3B (CT Inc	dex 107%): Bonus = 3% 52.4 x .03 = \$15,720.00			
									dex 156%): Bonus = 3% 52.4 x .03 = \$15,349.92			
	0620	4 IN. YELLOW HI	GH BUILD	Other Item	Retroreflectivity			.I7P3262 Ret	Total: \$31,069.92 roreflectivity Adjustment			\$12.0
	0020	WATERBORNE PAIN	AVEMENT			G03_J7P32		pporting documentation http://eproject eflectivity_Payment_Adju	is saved in eProjects at: s/Docs/7P3262/210219-			Ψ12.0
	0960		MISC.	Other Item Adjustment	Other			J7P	3262 SPAD Pay Factor: Line: 0960 Mix ID: SP250 21-71A			\$7,438.5
									MIX ID: SP250 21-71A Lot 1:			

Revision 4/1/2020 Page 2 of 29



Pay Estimate Created Date: February 15, 2022

Pro	ogress		Contract ID Prime Contracto	210219-G r APAC-Ce		February 2, 2022 February 15, 2022	Original Contract Net Change Orde Current Contract	er Amount	\$7,483,694.23 \$211,540.95 \$7,695,235.18	
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type		Comments		Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J7P3262					9,016.38 SY ((6192.29 Tons) x \$37.50/	sy x .022 = \$7,438.51 SMK013 for specifics.			
	0960	MIS	C. Other Item Adjustment	Other		J7P3 Lots 1A (TS	262 TSR Adjustments Mix ID: SP095 21-59 SR 94%): Bonus = 3% 37.5 x .03 = \$1,901.81			\$16,376.83
						Lots 1A-1D (TS 3,850.3 SQYD x \$5 Sei Lots 1A-3B (TS 9,016.4 SQYD x \$3	e Ident: 21SWTAL095 Mix ID: SP250 21-71 SR 91%): Bonus = 3% 87.5 x .03 = \$4,331.59 e Ident: 21SWTAL089 Mix ID: SP250 21-71A SR 97%): Bonus = 3% 7.5 x .03 = \$10,143.43 e Ident: 21SWTAL089			
J7P3263	1500	ASPHALTIC CONCRE MIXTURE PG 70-22 (SP09 M	5C Adjustment	Other		See IRI summary sheet NB Di NB Pa: Cent SB Di	J7P3263 IRI Bonus			\$9,945.98
	1500	ASPHALTIC CONCRE MIXTURE PG 70-22 (SP09 M	5C Adjustment	Other		Lots 1A-3C (TS 10,221.4 TONS x \$5 ⁷	263 TSR Adjustments Mix ID: SP095 21-59 SR 90%): Bonus = 3% 1.5 x .03 = \$15,792.06 e Ident: 21SWTAL027			\$15,792.06
	1500	ASPHALTIC CONCRE MIXTURE PG 70-22 (SP09 M	5C Adjustment	Other		Line Item 1500: 8.0 Elevated Density: C, 2D, 2E, 2F, and 2G Bonus = 1% 1.50 x .01 = \$4,120.00 additional information			\$4,120.00	
	1500	ASPHALTIC CONCRE MIXTURE PG 70-22 (SP09 M	5C Adjustment	Other	Per JSP P 3.0,		Line Item 1500: rg wheel track testing: x 111%): Bonus = 3% 1.5 x .03 = \$15,792.06 Total: \$15,792.06			\$15,792.06
	1510	ASPHALTIC CONCRE MIXTURE PG 70-22 (SP19 M	OC Adjustment	Other		Lots 1A-1D (TS 3235.02 TONS x \$5	263 TSR Adjustments Mix ID: SP125 18-40 SR 97%): Bonus = 3% 50.0 x .03 = \$4,852.53 e Ident: 21SWTAL047			\$4,852.53
	1510	ASPHALTIC CONCRE MIXTURE PG 70-22 (SP19) M	OC Adjustment	Asphalt Cement Price Adjustment	Incorrect quantity input on AC ac reimburses the AC adjustment	t for the additional 0.7 tor				\$2.42
	1720	6 IN. WHITE HIGH BUI WATERBORNE PAVEMEI MARKING PAINT, TYPE BEAI	NT Adjustment	Retroreflectivity Adjustment	Supp G03_J7P3262_Est0018_Retrorefl	porting documentation is http://eprojects/l lectivity_Payment_Adjust	Docs/7P3262/210219-			\$311.77
	1730	6 IN. YELLOW HIGH BUI WATERBORNE PAVEME MARKING PAINT, TYPE BEAI	NT Adjustment	Retroreflectivity Adjustment	Supp G03_J7P3262_Est0018_Retrorefl	porting documentation is http://eprojects/l lectivity_Payment_Adjust	Docs/7P3262/210219-			\$50.70
J7P3268	1880	ASPHALTIC CONCRE MIXTURE PG 70-22 (SP09 M	5C Adjustment	Other		NB Pa: NB Acceler SB Di	J7P3268 IRI Bonus for further breakdown iving Lane: \$9,415.00 ssing Lane: \$7,897.61 ation Lane: \$1,081.82 iving Lane: \$8,189.19 ssing Lane: \$8,833.64 Total: \$35,417.26			\$35,417.26
	1880	ASPHALTIC CONCRE		Other		J7P3	268 TSR Adjustments			\$6,737.95
vision 4/1		MIXTURE PG 70-22 (SP09	Adjustment							Page 3 of

Revision 4/1/2020 Page 3 of 29



Pay Estimate Created Date: February 15, 2022

Prog	gress		Contrac Prime C	ct ID Contractor	210219-G APAC-Cei			February 2, 2022 February 15, 2022	Original Contract Net Change Orde Current Contract	er Amount	\$211,5	3,694.23 540.95 5,235.18
	Line No.	Item Description	Ac	djustment Type	Other Item Adjustment Type			Comments		Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J7P3268		N	ЛIX)					4,438.7 TONS x \$5	R 96%): Bonus = 3% 50.6 x .03= \$6,737.95 d Ident: 21SWTAL027			
1	1880	ASPHALTIC CONCRE MIXTURE PG 70-22 (SP08 N		Other Item djustment	Other		s	J7P3268 Qualifying Su	Bonus = 1% .60 x .01 = \$1,518.00			\$1,518.00
1	1880	ASPHALTIC CONCRE MIXTURE PG 70-22 (SP08 M		Other Item djustment	Other	F	Per JSP P 3.0,	Line Item 1880: g wheel track testing: x 105%): Bonus = 3%.6 x .03 = \$15,180.00 x 125%): Bonus = 3%.6 x .03 = \$15,180.00 x 109%): Bonus = 3%50.6 x .03 = \$6,737.95 Total: \$37,097.95			\$37,097.95	
2	2040	6 IN. WHITE HIGH BU WATERBORNE PAVEME MARKING PAINT, TYP BEA	ENT Ac			G03_J7P3262_Est		eflectivity Adjustment saved in eProjects at: locs/7P3262/210219- ment_J7P3268.xlsm? 84a68baf9799392449			\$825.45	
2	2050	6 IN. YELLOW HIGH BU WATERBORNE PAVEME MARKING PAINT, TYP BEA	ENT Ac		Retroreflectivity Adjustment	G03_J7P3262_Est		porting documentation is	0ocs/7P3262/210219- ment_J7P3268.xlsm?			\$589.72
17S3189J 2	2300	MI		Other Item djustment	Other				J7S3189J IRI Bonus for further breakdown Driving Lane: \$492.28 Driving Lane: \$858.08 Total: \$1,350.36			\$1,350.36
2	2410	4 IN. YELLOW STANDA WATERBORNE PAVEME MARKING PAINT, TYP BEA	ENT Ac		Retroreflectivity Adjustment	G03_J7P3262_Est0		porting documentation is	reflectivity Adjustment saved in eProjects at: locs/7P3262/210219- lent_J7S3189J.xlsm?			\$133.23
Γotal												\$292,691.08

Revision 4/1/2020 Page 4 of 29



					C	Contract Project Information	
Project Number	Federal Proj. Number	Project Description	Route	County			Location of Work
J7P3262	FAF 171-1(29)	Resurface and intersection improvements	171	JASPER	from Kansas state line t	to 0.6 mile west of Rte. 43	
J7P3263	FAF 171-1(27)	Resurface	171	JASPER	from 0.6 mile west of Fi	r Road in Airport Drive to ea	st of Centennial Avenue in Webb City
J7P3268	FAF 171-1(28)	Resurface	171	JASPER	from east of Centennial	Avenue in Webb City to I-4	9 in Carthage
J7S3189J	FAS S602(59)	Resurface and add shoulders	0	JASPER	at various locations fron	n Rte. D in Alba to Rte. 96	
Totals by Jo	ob Numbers	\$					
J7P3262		Item Pay tem Adjustment	ts Gross Ite	em Pay	This Estimate \$9,984.00 \$158,153.64 \$168,137.64	Previous \$3,550,528.60 \$118,614.35 \$3,669,142.95	To Date \$3,560,512.60 \$276,767.99 \$3,837,280.59
			ments		(\$155,672.12) \$6,067.93 \$0.00 (\$6,067.93)	\$155,672.12 (\$6,067.93) \$0.00 \$6,067.93	\$0.00 \$0.00 \$0.00 \$0.00
J7P3263		Item Pay tem Adjustment	ts Gross Ite	em Pay	This Estimate \$16,697.82 \$50,867.52 \$67,565.34	Previous \$1,156,379.06 \$95,101.27 \$1,251,480.33	To Date \$1,173,076.88 \$145,968.79 \$1,319,045.67
			ments		(\$49,190.43) \$1,916.96 \$0.00 (\$1,916.96)	\$49,190.43 (\$1,916.96) \$0.00 \$1,916.96	\$0.00 \$0.00 \$0.00 \$0.00
J7P3268		Item Pay tem Adjustment	ts Gross Ite	em Pay	This Estimate \$0.00 \$82,186.33 \$82,186.33	Previous \$2,168,877.87 \$182,214.78 \$2,351,092.65	To Date \$2,168,877.87 \$264,401.11 \$2,433,278.98
			nents		(\$91,593.97) \$3,564.42 \$0.00 (\$3,564.42)	\$91,593.97 (\$3,564.42) \$0.00 \$3,564.42	\$0.00 \$0.00 \$0.00 \$0.00
J7S3189J		Item Pay tem Adjustment	ts Gross Ite	em Pay	This Estimate \$0.00 \$1,483.59 \$1,483.59	Previous \$333,761.71 \$22,305.53 \$356,067.24	To Date \$333,761.71 \$23,789.12 \$357,550.83
			nents		(\$16,587.40) \$645.09 \$0.00 (\$645.09)	\$16,587.40 (\$645.09) \$0.00 \$645.09	\$0.00 \$0.00 \$0.00 \$0.00

Revision 4/1/2020 Page 5 of 29



Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Item Overrun: Contract 210219-G03, Contract Project J7P3262, Project Item Line Number 0190, Contract Line Item Number 0190, Item 4019905, Minor Item.	Waiting on change order approval.	fielda4	Acknowledged
Estimate Exception Type: Item Overrun: Contract 210219-G03, Contract Project J7P3262, Project Item Line Number 0210, Contract Line Item Number 0210, Item 4030003, Minor Item.	Waiting on change order approval.	fielda4	Acknowledged
Estimate Exception Type: Item Overrun: Contract 210219-G03, Contract Project J7P3262, Project Item Line Number 0220, Contract Line Item Number 0220, Item 4071005, Minor Item.	Waiting on change order approval.	fielda4	Acknowledged
Estimate Exception Type: Item Overrun: Contract 210219-G03, Contract Project J7P3262, Project Item Line Number 0330, Contract Line Item Number 0330, Item 6083006, Minor Item.	Waiting on change order approval.	fielda4	Acknowledged
Estimate Exception Type: Item Overrun: Contract 210219-G03, Contract Project J7P3262, Project Item Line Number 0890, Contract Line Item Number 0890, Item 8051000A, Minor Item.	Waiting on change order approval.	fielda4	Acknowledged
Estimate Exception Type: Item Overrun: Contract 210219-G03, Contract Project J7P3262, Project Item Line Number 0960, Contract Line Item Number 0960, Item 4039905, Minor Item.	Waiting on change order approval.	fielda4	Acknowledged
Estimate Exception Type: Item Overrun: Contract 210219-G03, Contract Project J7P3263, Project Item Line Number 1500, Contract Line Item Number 1500, Item 4030003, Minor Item.	Waiting on change order approval.	fielda4	Acknowledged
Estimate Exception Type: Item Overrun: Contract 210219-G03, Contract Project J7P3263, Project Item Line Number 1520, Contract Line Item Number 1520, Item 4071005, Minor Item.	Waiting on change order approval.	fielda4	Acknowledged
Estimate Exception Type: Item Overrun: Contract 210219-G03, Contract Project J7P3268, Project Item Line Number 2120, Contract Line Item Number 2120, Item 6061060, Minor Item.	Waiting on change order approval.	fielda4	Acknowledged
Estimate Exception Type: Item Overrun: Contract 210219-G03, Contract Project J7S3189J, Project Item Line Number 2290, Contract Line Item Number 2290, Item 4011209, Minor Item.	Waiting on change order approval.	fielda4	Acknowledged
Estimate Exception Type: Item Overrun: Contract 210219-G03, Contract Project J7S3189J, Project Item Line Number 2300, Contract Line Item Number 2300, Item 4019910, Minor Item.	Waiting on change order approval.	fielda4	Acknowledged
Estimate Exception Type: Item Overrun: Contract 210219-G03, Contract Project J7S3189J, Project Item Line Number 2310, Contract Line Item Number 2310, Item 4071005, Minor Item.	Waiting on change order approval.	fielda4	Acknowledged

Revision 4/1/2020 Page 6 of 29



Total Paid / All Items / All Estimates (Including this Estimate)

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
210219-G03	J7P3262	0001	0010	2013000	CLEARING AND GRUBBING	6.00	0.00	6.00	ACRE	6.00	\$2,725.00	\$16,350.00
		0001	0020	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	1.00	\$30,000.00	\$30,000.00
		0001	0030	2031000	CLASS A EXCAVATION	13,662.00	3,788.80	17,450.80	CUYD	17,450.80	\$12.50	\$218,135.00
		0001	0040	2035500	EMBANKMENT IN PLACE	1,420.00	0.00	1,420.00	CUYD	1,420.00	\$22.00	\$31,240.00
		0001	0050	2036000	COMPACTING EMBANKMENT	10,145.00	0.00	10,145.00	CUYD	10,145.00	\$4.30	\$43,623.50
		0001	0060	2037075	COMPACTING IN CUT	68.60	0.00	68.60	STA	57.30	\$555.00	\$31,801.50
		0001	0070	2063000	CLASS 3 EXCAVATION	342.00	0.00	342.00	CUYD	342.00	\$22.50	\$7,695.00
		0001	0080	2063300	CLASS 4 EXCAVATION	565.00	0.00	565.00	CUYD	565.00	\$22.50	\$12,712.50
		0001	0090	2063500	CULVERT CLEANOUT	1.00	0.00	1.00	EA	1.00	\$1,500.00	\$1,500.00
		0001	0100	2079903	MISC.LINEAR GRADING FOR ADA FACILITIES	154.00	0.00	154.00	LF	154.00	\$10.00	\$1,540.00
		0001	0110	2153000	SHAPING SLOPES, CLASS III	4.00	0.00	4.00	100F	4.00	\$725.00	\$2,900.00
		0001	0120	3040504	TYPE 5 AGGREGATE FOR BASE (4 IN. THICK)	14.00	0.00	14.00	SQYD	14.00	\$54.00	\$756.00
		0001	0130	3040506	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	16,975.00	0.00	16,975.00	SQYD	10,859.50	\$7.75	\$84,161.12
		0001	0140	3049910	MISC.Permanent Aggregate Edge Treatment	2,821.40	-2,821.40	0.00	TONS	0.00	\$25.50	\$0.00
		0001	0141	6191000	PAVEMENT EDGE TREATMENT	0.00	149,886.88	149,886.88	LF	20,800.00	\$0.48	\$9,984.00
		0001	0150	3105002	GRAVEL (A) OR CRUSHED STONE (B)	222.00	0.00	222.00	TONS	222.00	\$46.70	\$10,367.40
		0001	0160	3105003	GRAVEL (A) OR CRUSHED STONE (B)	1,776.00	0.00	1,776.00	SQYD	672.50	\$7.95	\$5,346.38
		0001	0170	4019901	MISC.Infrared Scanning	1.00	0.00	1.00	LS	1.00	\$5,350.00	\$5,350.00
		0001	0180	4019901	MISC.Intelligent Compaction	1.00	0.00	1.00	LS	1.00	\$5,000.00	\$5,000.00
			0190	4019905	MISC.FULL-DEPTH SHOULDER REPAIR	100.00	0.00	100.00	SQYD	252.00	\$58.45	\$14,729.40
		0001	0200	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE	4,852.50	0.00	4,852.50	TONS	4,675.00	\$53.25	\$248,943.75
		0001	0200	4020520	LEVELING)	4,052.50	0.00	4,652.50	TONS	4,075.00	\$53.25	\$240,943.75
		0001	0210	4030003	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP095C MIX)	19,668.40	0.00	19,668.40	TONS	19,764.60	\$52.40	\$1,035,665.04
		0001	0220	4071005	TACK COAT	29,797.00	0.00	29,797.00	GAL	32,225.00	\$2.03	\$65,416.75
		0001	0230	4081018	PRIME-LIQUID ASPHALT MC 800	8,323.00	0.00	8,323.00	GAL	0.00	\$1.90	\$0.00
		0001		5021309	CONCRETE PAVEMENT (9 IN. NON-REINFORCED 15 FT. JOINTS)	398.40		398.40	SQYD	398.40	\$51.00	\$20,318.40
		0001	0250	6029902	MISC.Witness Post Assemblies	9.00	0.00	9.00	EA	9.00	\$62.00	\$558.00
		0001	0260	6044011	PIPE COLLAR, TYPE A	1.00	0.00	1.00	EA	1.00	\$750.00	\$750.00
		0001	0270	6053030A	PIPE AGGREGATE PAVEMENT EDGE DRAIN	708.00	0.00	708.00	LF	708.00	\$20.00	\$14,160.00
		0001	0280	6054020	OUTLET PIPES AND SPLASH PADS	1.00	0.00	1.00	EA	1.00	\$500.00	\$500.00
		0001	0290	6071040	DRIVE GATE (CHAIN-LINK)	1.00	0.00	1.00	EA	1.00	\$3,350.00	\$3,350.00
		0001	0300	6081000	CONCRETE MEDIAN	974.80	0.00	974.80	SQYD	0.00	\$40.00	\$0.00
		0001	0310	6081010	CONCRETE CURB RAMP	4.20	0.00	4.20	SQYD	4.20	\$188.55	\$791.91
		0001	0320	6081012	TRUNCATED DOMES	10.00	0.00	10.00	SQFT	10.00	\$14.60	\$146.00
		0001	0330	6083006	6 IN. CONCRETE MEDIAN STRIP	367.80	0.00	367.80	SQYD	1,459.90	\$40.00	\$58,396.00
		0001	0340	6086004	CONCRETE SIDEWALK, 4 IN.	9.10	0.00	9.10	SQYD	9.10	\$93.00	\$846.30
		0001	0350	6091010	CONCRETE CURB (6 IN. HEIGHT AND UNDER) TYPE S	2,111.00	0.00	2,111.00	LF	0.00	\$20.25	\$0.00
		0001	0360	6092011	INTEGRAL CURB (6 IN. HEIGHT AND UNDER) TYPE A	324.00	0.00	324.00	LF	324.00	\$11.00	\$3,564.00
		0001	0370	6092032	CONCRETE CURB LOW PROFILE TYPE F	391.00	0.00	391.00	LF	391.00	\$18.55	\$7,253.05
		0001	0380	6097000	ROCK LINING	62.00	0.00	62.00	CUYD	62.00	\$100.00	\$6,200.00
		0001	0390	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	2.00	\$650.00	\$1,300.00
		0001	0395	6143013	MANHOLE FRAME AND COVER, TYPE 3	1.00	0.00	1.00	EA	1.00	\$500.00	\$500.00
		0001	0400	6161005	CONSTRUCTION SIGNS	2,794.00	0.00	2,794.00	SQFT	2,794.00	\$7.60	\$21,234.40
		0001	0410	6161008	ADVANCED WARNING RAIL SYSTEM	10.00	0.00	10.00	EA	3.00	\$101.50	\$304.50
		0001	0420	6161009	FLAG ASSEMBLY	20.00	0.00	20.00	EA	0.00	\$20.30	\$0.00
			0430	6161025	CHANNELIZER (TRIM LINE)	175.00	0.00	175.00	EA	175.00	\$17.25	\$3,018.75
		0001										
		0001	0440	6161031	TYPE III MOVEABLE BARRICADE WITH LIGHTS	33.00	0.00	33.00	EA	33.00	\$175.00	\$5,775.00

Revision 4/1/2020 Page 7 of 29



Total Paid / All Items / All Estimates (Including this Estimate)

Contract Im.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTE To Date (See repo generated date)	
10219-G03	J7P3262	0001	0450	6161040	FLASHING ARROW PANEL	2.00	0.00	2.00	EA	0.00	\$865.00	\$0.0	
		0001	0460	6161099	CHANGEABLE MESSAGE SIGN WITH COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	5.00	0.00	5.00	EA	5.00	\$4,350.00	\$21,750.0	
		0001	0470	6162002	TEMPORARY LONG-TERM RUMBLE STRIPS	4.00	0.00	4.00	EA	0.00	\$610.00	\$0.0	
		0001	0480	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$61,500.00	\$61,500.0	
		0001	0500	6191000	PAVEMENT EDGE TREATMENT	959.00	0.00	959.00	LF	959.00	\$6.25	\$5,993.	
		0001	0510	6200009	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 6 IN. WHITE	74.00	0.00	74.00	LF	74.00	\$4.00	\$296.	
		0001	0520	6200012	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 12 IN WHITE	138.00	0.00	138.00	LF	138.00	\$8.00	\$1,104.	
		0001	0530	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	189.00	0.00	189.00	LF	189.00	\$16.25	\$3,071	
		0001	0540	6200018	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. YELLOW	673.00	0.00	673.00	LF	673.00	\$16.25	\$10,936	
		0001	0550	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	26.00	0.00	26.00	EA	26.00	\$225.00	\$5,850	
		0001	0560	6200024	PREFORMED THERMOPLASTIC PAVEMENT MARKING, STRAIGHT ARROW	5.00	0.00	5.00	EA	5.00	\$185.00	\$925	
		0001	0570	6200027	PREFORMED THERMOPLASTIC PAVEMENT MARKING, COMBINATION STR/LT/RT	5.00	0.00	5.00	EA	5.00	\$405.00	\$2,025	
		0001	0580	6200042	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 12 IN WHITE, YIELD LINE TRIANGLES	64.00	0.00	64.00	EA	64.00	\$25.25	\$1,616	
		0001	0590	6200051	PREFORMED THERMOPLASTIC PAVEMENT MARKING, COMBINATION STR/LT/RT FISH HOOK ARROW	8.00	0.00	8.00	EA	8.00	\$605.00	\$4,840	
		0001	0600	6205320	TEMPORARY REMOVABLE MARKING TAPE, 12 IN., WHITE	120.00	0.00	120.00	LF	120.00	\$4.05	\$486	
		0001	0610	6205440A	TEMPORARY NON-REMOVABLE MARKING TAPE LEFT/RIGHT ARROW	13.00	0.00	13.00	EA	13.00	\$50.55	\$657	
		0001	0620	6205901A	4 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	86,239.00	0.00	86,239.00	LF	86,239.00	\$0.20	\$17,247	
		0001	0001	0630	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	159,285.00	0.00	159,285.00	LF	159,285.00	\$0.22	\$35,042
		0001	0640	6205903A	6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	2,203.00	0.00	2,203.00	LF	2,203.00	\$0.22	\$484	
		0001	0650	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	2,710.00	0.00	2,710.00	LF	2,710.00	\$0.15	\$400	
		0001	0660	6206108A	8 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	68.00	0.00	68.00	LF	68.00	\$0.15	\$10	
		0001	0670	6208064A	TEMPORARY RAISED PAVEMENT MARKER	4,214.00	0.00	4,214.00	EA	4,214.00	\$1.75	\$7,374	
		0001	0680	6208076	4 IN TEMPORARY PAVEMENT MARKING PAINT	10,882.00	0.00	10,882.00	LF	10,882.00	\$0.95	\$10,33	
		0001	0690	6209901	MISC.TEMPORARY PAVEMENT MARKING PAINT	1.00	0.00	1.00	LS	1.00	\$23,250.00	\$23,25	
		0001	0700	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	234,422.00	0.00	234,422.00	SQYD	234,422.00	\$0.45	\$105,489	
		0001	0710	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	3,137.00	0.00	3,137.00	SQYD	3,137.00	\$3.85	\$12,07	
		0001	0720	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	1,360.70	0.00	1,360.70	STA	1,360.70	\$17.80	\$24,220	
		0001	0730	6261001	BITUMINOUS CENTERLINE RUMBLE STRIP	617.70	0.00	617.70	STA	617.70	\$18.85	\$11,643	
		0001	0740	6269909	MISC.Alternate Shoulder Rumble Strip	61.70	0.00	61.70	STA	61.70	\$21.15	\$1,304	
		0001	0750	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	1.00	\$22,300.00	\$22,300	
		0001	0760	7034041	CLASS B-1 CONCRETE (CULVERTS)	127.60	0.00	127.60	CUYD	127.60	\$525.00	\$66,990	
		0001	0770	7061030	REINFORCING STEEL (CULVERTS)	18,920.00	0.00	18,920.00	LB	18,920.00	\$1.50	\$28,380	
		0001	0780	7250324A	24 IN. PIPE GROUP B	30.00	0.00	30.00	LF	30.00	\$70.00	\$2,100	
		0001	0790	7250436	36 IN. PIPE GROUP C	116.00	0.00	116.00	LF	116.00	\$85.00	\$9,86	
		0001	0800	7252004	CORRUGATED METALLIC-COATED STEEL PIPE-ARCH TYPE B-4	45.00	0.00	45.00	LF	45.00	\$115.00	\$5,17	
		0001	0810	7261018	18 IN. PIPE GROUP A	122.00	0.00	122.00	LF	122.00	\$55.00	\$6,71	
		0001	0820	7261036	36 IN. PIPE GROUP A	85.00	0.00	85.00	LF	85.00	\$105.00	\$8,92	
		0001	0830	7311053	PRECAST CONCRETE DROP INLET 5 FT X 3 FT	5.00	0.00	5.00	FT	5.00	\$750.00	\$3,750	
		0001	0840	7320024A	24 IN. OR ALLOWED SUBSTITUTE GROUP B FLARED END SECTION	1.00	0.00	1.00	EA	1.00	\$1,200.00	\$1,200	
		0001	0850	7320618A	18 IN. OR ALLOWED SUBSTITUTE GROUP A FLARED END SECTION	2.00	0.00	2.00	EA	2.00	\$1,200.00	\$2,400	
		0001	0860	7320636A	36 IN. OR ALLOWED SUBSTITUTE GROUP A FLARED END SECTION	2.00	0.00	2.00	EA	2.00	\$1,200.00	\$2,400	
					OLOTION	6.00		6.00					

Revision 4/1/2020 Page 8 of 29



Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	port Generated date and can differ from the posted amo Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
210219-G03	J7P3262	0001	0880	7321004	B4 FLARED END SECTION	2.00	0.00	2.00	EA	2.00	\$800.00	\$1,600.00
		0001	0890	8051000A	SEEDING - COOL SEASON MIXTURES	4.90	0.00	4.90	ACRE	5.40	\$2,605.00	\$14,067.00
		0001	0900	8061004	SEDIMENT TRAP ROCK	40.00	0.00	40.00	CUYD	0.00	\$71.50	\$0.00
		0001	0910	8061005	ROCK DITCH CHECK	96.00	0.00	96.00	LF	12.00	\$28.25	\$339.00
		0001	0920	8061006	ALTERNATE DITCH CHECK	1,278.00	0.00	1,278.00	LF	1,036.00	\$10.65	\$11,033.40
		0001	0930	8061016	SEDIMENT REMOVAL	146.00	0.00	146.00	CUYD	0.00	\$10.00	\$0.00
		0001	0940	8061019	SILT FENCE	3,409.00	0.00	3,409.00	LF	2,880.00	\$3.00	\$8,640.00
		0001	0950	8064128	TYPE 1 TURF REINFORCEMENT MAT	6,222.00	0.00	6,222.00	SQYD	5,080.00	\$2.00	\$10,160.00
		0002	0960	4039905	MISC.12.5" Asphaltic Concrete Pavement	14,088.10	0.00	14,088.10	SQYD	14,557.20	\$37.50	\$545,895.00
		0004	0980	4010150	TYPE A2 SHOULDER	2,488.30	0.00	2,488.30	SQYD	2,488.30	\$28.00	\$69,672.40
		0010	1000	6061060	MGS GUARDRAIL	475.00	0.00	475.00	LF	475.00	\$20.00	\$9,500.00
		0010	1010	6061070	MGS VERTICAL CONCRETE BARRIER TRANSITION	4.00	0.00	4.00	EA	4.00	\$2,300.00	\$9,200.00
		0010	1020	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	4.00	0.00	4.00	EA	4.00	\$2,405.00	\$9,620.00
		0020	1030	9011010	RELOCATED POLE	1.00	0.00	1.00	EA	0.00	\$980.00	\$0.00
		0020	1040	9011030	LIGHTING POLE, 30 FT. OR 9.0 M, TYPE AT	16.00	0.00	16.00	EA	16.00	\$2,720.00	\$43,520.00
		0020	1050	9011108	BRACKET ARM, 8 FT. OR 2.4 M	16.00	0.00	16.00	EA	16.00	\$425.00	\$6,800.00
		0020	1060	9011311	LUMINAIRE, LED-A	16.00	0.00	16.00	EA	16.00	\$290.00	\$4,640.00
		0020	1070	9012230	BASE MOUNTED CONTROL STATION 240 VOLT - 4 CIRCUIT	1.00	0.00	1.00	EA	1.00	\$6,635.00	\$6,635.00
		0020	1080	9013004	CONDUIT, 4 IN. RIGID, IN TRENCH	116.00	0.00	116.00	LF	116.00	\$18.00	\$2,088.00
			1090	9014004	CONDUIT, 4 IN. RIGID, PUSHED	411.00	0.00	411.00	LF	411.00	\$26.00	\$10,686.00
		0020	1100	9015010	TRENCHING TYPE I	1,470.00	0.00		LF		\$6.00	
		0020						1,470.00		1,470.00		\$8,820.00
		0020	1110	9016120	PULL BOX, CONCRETE, STANDARD	8.00	0.00	8.00	EA	8.00	\$2,455.00	\$19,640.00
		0020	1120	9017002	CABLE, 2 AWG 1 CONDUCTOR	190.00	0.00	190.00	LF	190.00	\$2.60	\$494.00
		0020	1130	9017110	CABLE, 10 AWG 1 CONDUCTOR, POLE AND BRACKET	1,540.00	0.00	1,540.00	LF	1,540.00	\$1.10	\$1,694.00
		0020	1140	9017407	CABLE-CONDUIT, 1 IN., 2 CONDUCTORS AND 1 BARE NEUTRAL, 8 AWG	2,190.00	0.00	2,190.00	LF	2,190.00	\$3.55	\$7,774.50
		0020	1150	9018230	POLE FOUNDATION (30 FT. OR 9.0 M MOUNTING HEIGHT)	17.00	0.00	17.00	EA	16.00	\$1,155.00	\$18,480.00
		0020	1160	9018612	POWER SUPPLY ASSEMBLY, TYPE 2, 240/120 VOLT SERVICE, LIGHTING ONLY	1.00	0.00	1.00	EA	1.00	\$3,105.00	\$3,105.00
		0030	1170	9023220	POST, TYPE C, 20 FT. ARM OR 6.1 M ARM	1.00	0.00	1.00	EA	1.00	\$6,715.00	\$6,715.00
		0030	1180	9023225	POST, TYPE C, 25 FT. ARM OR 7.6 M ARM	1.00	0.00	1.00	EA	1.00	\$7,860.00	\$7,860.00
		0030	1190	9023245	POST, TYPE C, 45 FT. ARM OR 13.7 M ARM	2.00	0.00	2.00	EA	2.00	\$11,115.00	\$22,230.00
		0030	1200	9023250	POST, TYPE C, 50 FT. ARM OR 15.2 M ARM	1.00	0.00	1.00	EA	1.00	\$11,535.00	\$11,535.00
		0030	1210	9025300	CONDUIT, 3 IN., TRENCH WITH TRACER WIRE	157.00	0.00	157.00	LF	157.00	\$16.00	\$2,512.00
		0030	1220	9027300	CONDUIT, 3 IN., PUSHED WITH TRACER WIRE	365.00	0.00	365.00	LF	365.00	\$26.00	\$9,490.00
		0030	1230	9028202	CABLE, 2 AWG 1 CONDUCTOR, POWER	380.00	0.00	380.00	LF	380.00	\$2.60	\$988.00
		0030	1240	9028309	CABLE, 16 AWG 3 CONDUCTOR	740.00	0.00	740.00	LF	740.00	\$1.60	\$1,184.00
		0030	1250	9028500	CABLE, LOOP DETECTOR, IN DUCT	1,600.00	0.00	1,600.00	LF	1,600.00	\$6.25	\$10,000.00
		0030	1260	9028620	POWER SUPPLY ASSEMBLY, TYPE 2	1.00	0.00	1.00	EA	1.00	\$3,110.00	\$3,110.00
		0030	1270	9028820	PULL BOX, CONCRETE, STANDARD	4.00	0.00	4.00	EA	4.00	\$2,455.00	\$9,820.00
		0030	1280	9029100	BASE, CONCRETE	15.60	0.00	15.60	CUYD	15.60	\$1,070.00	\$16,692.00
		0030	1290	9029902	MISC.BLANK OUT SIGN MOUNTING BRACKET	2.00	0.00	2.00	EA	2.00		\$590.00
		0030	1300	9029902	MISC.BLANK OUT SIGNS	4.00	0.00	4.00	EA	4.00	,	\$15,000.00
		0030	1310	9029902	MISC.CONTROLLER ASSEMBLY	1.00	0.00	1.00	EA	1.00		\$4,475.00
		0030	1320	9029903	MISC.RAILROAD INTERCONNECT CABLE	158.00	0.00	158.00	LF	158.00	\$2.50	\$395.00
		0030	1330	9031010	CONCRETE FOOTINGS, EMBEDDED	6.10	0.00	6.10	CUYD	6.10		\$6,331.80
			1340	9031210	STRUCTURAL STEEL POSTS	330.00	0.00	330.00	LB	330.00	\$1,036.00	\$1,782.00
		0040										
		0040	1350	9031241	BREAKAWAY ASSEMBLY (PERFORATED SQUARE STEEL TUBE)	12.00	0.00	12.00	EA	12.00	\$179.65	\$2,155.80

Page 9 of 29 Revision 4/1/2020



Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	port Generated date and can differ from the posted amo Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved	Unit Price	Total Value POSTED To Date (See report generated date)
210219-G03	J7P3262	0040	1360	9031250A	U-CHANNEL POST, 3 LB	306.00	0.00	306.00	LF	Qty 306.00	\$13.10	\$4,008.60
		0040	1370	9031270A	2 IN. PSST POST - 12 GA.	698.00	0.00	698.00	LF	698.00	\$6.05	\$4,222.90
		0040	1380	9031273	POST ANCHOR FOR 2 IN. PSST - 7 GA.	144.00	0.00	144.00	LF	144.00	\$33.55	\$4,831.20
		0040	1390	9031272	2.25 IN. PSST POST - 12 GA.	72.00	0.00	72.00	LF	72.00	\$6.20	\$446.40
		0040	1400	9031280	2.5 IN. PSST POST - 12 GA.	296.00	0.00	296.00	LF	296.00	\$7.00	\$2,072.00
		0040	1410	9031281	POST ANCHOR FOR 2.5 IN. PSST - 7 GA.	57.00	0.00	57.00	LF	57.00	\$34.75	\$1,980.75
		0040	1420	9035004A	SH-FLAT SHEET	475.00	0.00	475.00	SQFT	475.00	\$13.00	\$6,175.00
		0040	1430	9035011A	ST-STRUCTURAL	124.00	0.00	124.00	SQFT	124.00	\$25.50	\$3,162.00
		0040	1440	9035069A	SHF-FLAT SHEET FLUORESCENT	294.00	0.00	294.00	SQFT	294.00	\$16.55	\$4,865.70
		0040	1450	9039902	MISC.RELOCATE AND REMOUNT EXISTING SIGN ON NEW POST	4.00	0.00	4.00	EA	4.00	\$116.10	\$464.40
		0001	5001	2149910	MISC.Furnishing and Placing Rock Fill	0.00	4,675.00	4,675.00	TONS	0.00	\$21.00	\$0.00
	Project J7	P3262 - Tot	al Value		te as of Report Generated Date							\$3,560,512.5
	J7P3263	0001	1460	3049910	MISC.PERMANENT AGGREGATE EDGE TREATMENT	841.20	-841.20	0.00	TONS	0.00	\$19.85	\$0.00
		0001	1461	6191000	PAVEMENT EDGE TREATMENT	0.00	43,941.63	43,941.63	LF	43,941.63	\$0.38	\$16,697.82
		0001	1470	4019901	MISC.INFRARED SCANNING	1.00	0.00	1.00	LS	1.00	\$2,850.00	\$2,850.00
		0001	1480	4019901	MISC.INTELLIGENT COMPACTION	1.00	0.00	1.00	LS	1.00	\$5,000.00	\$5,000.00
		0001	1490	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	970.30	0.00	970.30	TONS	873.60	\$50.50	\$44,116.80
		0001	1500	4030003	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP095C MIX)	10,219.90	0.00	10,219.90	TONS	10,221.40	\$51.50	\$526,402.10
		0001	1510	4030208	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP190C MIX)	3,569.40	0.00	3,569.40	TONS	3,235.00	\$50.00	\$161,750.00
		0001	1520	4071005	TACK COAT	12,876.00	0.00	12,876.00	GAL	17,131.00	\$2.03	\$34,775.9
		0001	1530	4081018	PRIME-LIQUID ASPHALT MC 800	11,104.00	0.00	11,104.00	GAL	0.00	\$1.90	\$0.0
		0001	1540	4134000	BITUMINOUS FOG SEAL	2,025.00	0.00	2,025.00	GAL	1,054.00	\$2.75	\$2,898.5
		0001	1550	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	5.00	0.00	5.00	EA	5.00	\$200.00	\$1,000.0
		0001	1560	6161005	CONSTRUCTION SIGNS	1,596.00	0.00	1,596.00	SQFT	1,596.00	\$6.60	\$10,533.6
		0001	1570	6161025	CHANNELIZER (TRIM LINE)	363.00	0.00	363.00	EA	363.00	\$15.25	\$5,535.7
		0001	1580	6161031	TYPE III MOVEABLE BARRICADE WITH LIGHTS	54.00	0.00	54.00	EA	54.00	\$165.00	\$8,910.0
		0001	1590	6161033	DIRECTIONAL INDICATOR BARRICADE	28.00	0.00	28.00	EA	28.00	\$60.90	\$1,705.2
		0001	1600	6161040	FLASHING ARROW PANEL	12.00	0.00	12.00	EA	12.00	\$660.00	\$7,920.0
		0001	1610	6161099	CHANGEABLE MESSAGE SIGN WITH COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	7.00	0.00	7.00	EA	7.00	\$2,030.00	\$14,210.0
		0001	1620	6162002	TEMPORARY LONG-TERM RUMBLE STRIPS	4.00	0.00	4.00	EA	4.00	\$610.00	\$2,440.0
		0001	1630	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$20,000.00	\$20,000.0
		0001	1640	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	693.00	0.00	693.00	LF	693.00	\$16.15	\$11,191.9
		0001	1650	6200018	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. YELLOW	618.00	0.00	618.00	LF	618.00	\$16.15	\$9,980.7
		0001	1660	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	75.00	0.00	75.00	EA	75.00	\$222.50	\$16,687.5
		0001	1670	6200024	PREFORMED THERMOPLASTIC PAVEMENT MARKING, STRAIGHT ARROW	5.00	0.00	5.00	EA	5.00	\$182.00	\$910.0
		0001	1680	6200027	PREFORMED THERMOPLASTIC PAVEMENT MARKING, COMBINATION STR/LT/RT	31.00	0.00	31.00	EA	31.00	\$405.00	\$12,555.0
		0001	1690	6200030	PREFORMED THERMOPLASTIC PAVEMENT MARKING, WORD (ONLY)	10.00	0.00	10.00	EA	10.00	\$305.00	\$3,050.0
		0001	1700	6200036	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 30 IN WHITE MIDBLOCK	47.00	0.00	47.00	EA	47.00	\$182.00	\$8,554.0
		0001	1710	6200042	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 12 IN WHITE, YIELD LINE TRIANGLES	153.00	0.00	153.00	EA	153.00	\$25.25	\$3,863.2
		0001	1720	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	50,611.00	0.00	50,611.00	LF	50,611.00	\$0.22	\$11,134.4
		0001	1730	6205903A	6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	49,730.00	0.00	49,730.00	LF	49,730.00	\$0.22	\$10,940.6
		0001	1740	6205906A	12 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	1,625.00	0.00	1,625.00	LF	1,625.00	\$1.00	\$1,625.0
		0001	1750	6207002	PAVEMENT MARKING REMOVAL (SYMBOLS)	28.00	0.00	28.00	EA	28.00	\$65.70	\$1,839.60
		0001	1760	6209901	MISC.TEMPORARY PAVEMENT MARKING	1.00	0.00	1.00	LS	1.00	\$1.00	\$1.00

Revision 4/1/2020 Page 10 of 29



Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract m.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTE To Date (See repo generated date)
0219-G03	J7P3263	0001	1770	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	110,326.00	0.00	110,326.00	SQYD	110,326.00	\$0.65	\$71,711.9
		0001	1780	6221003	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (GREATER THAN 3 IN. THICK)	8,136.00	0.00	8,136.00	SQYD	8,136.00	\$7.50	\$61,020.0
		0001	1790	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	9,782.00	0.00	9,782.00	SQYD	9,782.00	\$2.00	\$19,564.
		0001	1800	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	1.00	\$2,500.00	\$2,500.
		0030	1810	9028500	CABLE, LOOP DETECTOR, IN DUCT	4,910.00	0.00	4,910.00	LF	4,910.00	\$3.00	\$14,730.
		0030	1820	9028510	CABLE, LOOP DETECTOR, LEAD-IN	590.00	0.00	590.00	LF	590.00	\$1.25	\$737.
		0040	1830	9031242	36 IN. SURFACE-MOUNT DELINEATOR POST	42.00	0.00	42.00	EA	42.00	\$55.90	\$2,347.
		0001	5101	6133018	FURNISHING AND PLACING BITUMINOUS MATERIAL FOR CLASS B PARTIAL DEPTH PAVEMENT REPAIR	0.00	361.70	361.70	TONS	361.70	\$81.45	\$29,460
		0001	5102	6133019	REMOVAL FOR CLASS B PARTIAL DEPTH PAVEMENT REPAIR	0.00	1,691.70	1,691.70	SQYD	1,691.70	\$7.05	\$11,926
					nte as of Report Generated Date							\$1,173,076.
	J7P3268	0001	1840	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	1.00	\$13,500.00	\$13,500.
		0001	1850	2153000	SHAPING SLOPES, CLASS III	78.00	0.00	78.00	100F	78.00	\$723.00	\$56,394
		0001	1860	4019901	MISC.INFRARED SCANNING	1.00	0.00	1.00	LS	1.00	\$6,750.00	\$6,750
		0001	1870	4019901	MISC.INTELLIGENT COMPACTION	1.00	0.00	1.00	LS	1.00	\$5,000.00	\$5,000
		0001	1880	4030003	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP095C MIX)	24,454.70	0.00	24,454.70	TONS	24,438.70	\$50.60	\$1,236,598
		0001	1890	4071005	TACK COAT	40,090.00	0.00	40,090.00	GAL	28,336.00	\$2.03	\$57,522
		0001	1900	4134000	BITUMINOUS FOG SEAL	22,928.00	0.00	22,928.00	GAL	11,359.00	\$2.50	\$28,397
		0001	1910	6161005	CONSTRUCTION SIGNS	2,107.00	0.00	2,107.00	SQFT	2,107.00	\$6.60	\$13,906
		0001	1920	6161008	ADVANCED WARNING RAIL SYSTEM	8.00	0.00	8.00	EA	8.00	\$76.00	\$608
		0001	1930	6161009	FLAG ASSEMBLY	8.00	0.00	8.00	EA	8.00	\$20.25	\$162
		0001	1940	6161025	CHANNELIZER (TRIM LINE)	400.00	0.00	400.00	EA	400.00	\$15.25	\$6,100
		0001	1950	6161040	FLASHING ARROW PANEL	1.00	0.00	1.00	EA	1.00	\$505.00	\$505
		0001	1960	6161055	SEQUENTIAL FLASHING WARNING LIGHT	14.00	0.00	14.00	EA	14.00	\$76.15	\$1,066
		0001	1970	6161099	CHANGEABLE MESSAGE SIGN WITH COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	2.00	0.00	2.00	EA	2.00	\$3,050.00	\$6,100
		0001	1980	6162002	TEMPORARY LONG-TERM RUMBLE STRIPS	4.00	0.00	4.00	EA	4.00	\$610.00	\$2,440
		0001	1990	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$20,000.00	\$20,000
		0001	2000	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	375.00	0.00	375.00	LF	375.00	\$16.25	\$6,093
		0001	2010	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	3.00	0.00	3.00	EA	3.00	\$222.50	\$66
		0001	2020	6200024	PREFORMED THERMOPLASTIC PAVEMENT MARKING, STRAIGHT ARROW	1.00	0.00	1.00	EA	1.00	\$182.00	\$182
		0001	2030	6200051	PREFORMED THERMOPLASTIC PAVEMENT MARKING, COMBINATION STR/LT/RT FISH HOOK ARROW	1.00	0.00	1.00	EA	1.00	\$404.50	\$404
		0001	2040	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	115,692.00	0.00	115,692.00	LF	115,692.00	\$0.22	\$25,452
		0001	2050	6205903A	6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	93,817.00	0.00	93,817.00	LF	93,817.00	\$0.22	\$20,63
		0001	2060	6205906A	12 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	9,560.00	0.00	9,560.00	LF	9,560.00	\$0.50	\$4,780
		0001	2070	6209901	MISC.TEMPORARY PAVEMENT MARKING	1.00	0.00	1.00	LS	1.00	\$1.00	\$
		0001	2080	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	296,129.00	-4,297.00	291,832.00	SQYD	291,832.00	\$0.65	\$189,690
		0001	2090	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	2,209.00	0.00	2,209.00	SQYD	2,209.00	\$2.70	\$5,96
		0001	2100	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	1,358.00	0.00	1,358.00	STA	1,358.00	\$18.35	\$24,91
		0001	2110	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	1.00	\$2,500.00	\$2,50
		0010	2115	6061014	GUARDRAIL TYPE A WITH RUBRAIL	100.00	0.00	100.00	LF	100.00	\$39.00	\$3,900
		0010	2120	6061060	MGS GUARDRAIL	8,450.00	0.00	8,450.00	LF	8,475.00	\$20.00	\$169,500
		0010	2130	6061069	1069 MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)		0.00	12.00	EA	12.00	\$2,517.00	\$30,20
		(REGULAR/NO CURB) 0010 2140 6061074 MGS HEIGHT AND BLOCK TRANSITION		2.00	0.00	2.00	EA	2.00	\$519.00	\$1,038		
	0010 2160 6061080 MGS END ANCHOR			17.00	0.00	17.00	EA	17.00	\$772.00	\$13,124		
					TYPE A CRASHWORTHY END TERMINAL (MASH)	28.00	0.00	28.00	EA	28.00	\$2,407.00	\$67,396

Revision 4/1/2020 Page 11 of 29

\$7,236,229.03



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

210219-G03 Overall - Total Value Posted to Date as of Report Generated Date

Contract m.CONTRACT	Project No.	Category	Line No.	Item Code	eport Generated date and can differ from the posted amo Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved	Unit Price	Total Value POSTED To Date (See report generated date)
							0.401	Quartery		Qty		
0219-G03	J7P3268	0010	2180	6063016	TYPE B CRASHWORTHY END TERMINAL	2.00	0.00	2.00	EA	2.00	\$4,367.00	\$8,734.0
		0010	2185	6066630	GUARDRAIL ANCHOR, ROCK FACE	1.00	0.00	1.00	EA	1.00	\$2,200.00	\$2,200.0
		0070	2190	2161500	REMOVAL OF SEAL COAT OR POLYMER WEARING SURFACE	11,457.00	0.00	11,457.00	SQFT	11,457.00	\$1.15	\$13,175.5
		0070	2200	7034600	CURB BLOCKOUT	635.00	0.00	635.00	LF	635.00	\$83.00	\$52,705.0
		0071	2210	2161500	REMOVAL OF SEAL COAT OR POLYMER WEARING SURFACE	12,381.00	0.00	12,381.00	SQFT	12,381.00	\$1.10	\$13,619.1
		0071	2220	7034600	CURB BLOCKOUT	686.00	0.00	686.00	LF	686.00	\$83.00	\$56,938.0
		0001	5201	2161502	REMOVAL OF CONCRETE WEARING SURFACE	0.00	9,107.00	9,107.00	SQFT	0.00	\$3.01	\$0.0
	Project J7	P3268 - Tot	al Value	Posted to Da	ate as of Report Generated Date							\$2,168,877.88
	J7S3189J	0001	2230	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	1.00	\$1,000.00	\$1,000.0
		0001	2240	2129900	MISC.Linear Grading Class 2 for Shoulders	57.00	0.00	57.00	100F	57.00	\$114.00	\$6,498.0
		0001	2250	2129900	MISC.Shoulder Grading	168.00	0.00	168.00	100F	168.00	\$37.00	\$6,216.0
		0001	2260	2153000	SHAPING SLOPES, CLASS III	4.00	0.00	4.00	100F	4.00	\$723.00	\$2,892.0
		0001	2270	3049910	MISC.PERMANENT AGGREGATE EDGE TREATMENT	782.70	0.00	782.70	TONS	569.40	\$24.75	\$14,092.6
		0001	2280	3105002	GRAVEL (A) OR CRUSHED STONE (B)	160.00	0.00	160.00	TONS	116.60	\$38.25	\$4,459.9
		0001	2290	4011209	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	827.30	0.00	827.30	TONS	853.50	\$51.00	\$43,528.5
		0001	2300	4019910	MISC.MODIFIED BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-2)	3,107.90	0.00	3,107.90	TONS	3,137.30	\$54.00	\$169,414.2
		0001	2310	4071005	TACK COAT	3,259.00	0.00	3,259.00	GAL	3,908.00	\$2.03	\$7,933.2
		0001	2320	4081018	PRIME-LIQUID ASPHALT MC 800	1,437.00	0.00	1,437.00	GAL	0.00	\$1.90	\$0.0
		0001	2330	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	1.00	0.00	1.00	EA	1.00	\$975.00	\$975.0
		0001	2340	6161005	CONSTRUCTION SIGNS	1,505.00	0.00	1,505.00	SQFT	626.50	\$6.60	\$4,134.9
		0001	2350	6161009	FLAG ASSEMBLY	19.00	0.00	19.00	EA	0.00	\$20.30	\$0.0
		0001	2360	6161025	CHANNELIZER (TRIM LINE)	25.00	0.00	25.00	EA	25.00	\$15.25	\$381.2
		0001	2370	6161099	CHANGEABLE MESSAGE SIGN WITH COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	2.00	0.00	2.00	EA	2.00	\$2,030.00	\$4,060.0
		0001	2380	6162004	TEMPORARY SHORT-TERM RUMBLE STRIPS	8.00	0.00	8.00	EA	8.00	\$610.00	\$4,880.0
		0001	2390	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$10,000.00	\$10,000.0
		0001	2400	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	28,913.00	0.00	28,913.00	LF	28,913.00	\$0.12	\$3,469.5
		0001	2410	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	28,913.00	0.00	28,913.00	LF	28,913.00	\$0.12	\$3,469.5
		0001	2420	6209901	MISC.TEMPORARY PAVEMENT MARKING PAINT	1.00	0.00	1.00	LS	1.00	\$1.00	\$1.0
		0001	2430	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	1,353.00	0.00	1,353.00	SQYD	1,353.00	\$7.35	\$9,944.5
		0001	2440	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	225.10	0.00	225.10	STA	225.10	\$28.50	\$6,415.3
		0001	2450	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	1.00	\$2,500.00	\$2,500.0
		0001	2460	8051000A	SEEDING - COOL SEASON MIXTURES	1.30	0.00	1.30	ACRE	0.00	\$4,350.00	\$0.0
		0001	2470	8061005	ROCK DITCH CHECK	1,904.00	0.00	1,904.00	LF	0.00	\$13.50	\$0.0
		0001	2480	8061016	SEDIMENT REMOVAL	436.00	0.00	436.00	CUYD	0.00	\$24.50	\$0.0
		0001	2490	8061019	SILT FENCE	6,184.00	0.00	6,184.00	LF	0.00	\$3.15	\$0.0
		0010	2500	6061061	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN. SPACING	325.00	0.00	325.00	LF	325.00	\$24.00	\$7,800.0
		0010	2510	6061069	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	4.00	0.00	4.00	EA	4.00	\$2,517.00	\$10,068.0
		0010	2520	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	4.00	0.00	4.00	EA	4.00	\$2,407.00	\$9,628.0
	Project 17	S3189 L - Ta	otal Value	Posted to D	Date as of Report Generated Date							\$333,761.7

Revision 4/1/2020 Page 12 of 29



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: J7P3262

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance		Offset/ Distance	Comments
0141	6191000	PAVEMENT EDGE TREATMENT	2/15/22	2/15/22	20,800.00	LF	Mainline	-		-		Payment for estimate 0018

Project: J7P3263

Line Number	Item Code	Description		DWR Approval Date	Quantity Posted	Units		From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
1461	6191000	PAVEMENT EDGE TREATMENT	2/15/22	2/15/22	43,941.63	LF	Mainline	7.788		11.413		Payment for estimate 0018

The information below this line are details for Construction Signs (if applicable).

No Data Available

Revision 4/1/2020 Page 13 of 29



Project	Line	Description	Adjustment	Other	Est.	Created	Created	Amount	Remarks
riojost	LIIIO	Description	Туре	Adjustment Type	Number	Date	Ву	7 tillount	romano
J7P3262	0030	CLASS A EXCAVATION	Overrun	Overrun	15	Jan 4, 2022	SYSTEM	(\$47,966.21)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					16	Jan 18, 2022	SYSTEM	\$47,966.21	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',12.66000 - 12.50000, 'is applied (if non-zero).
				Overrun - T	otal			\$0.00	
			Overrun - Tota	il				\$0.00	
			Price FUEL		3	Jun 30, 2021	SYSTEM	\$193.00	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					9	Oct 1, 2021	SYSTEM	\$692.58	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					11	Nov 1, 2021	SYSTEM	\$300.16	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					14	Dec 16, 2021	SYSTEM	\$490.56	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					15	Jan 3, 2022	SYSTEM	\$606.21	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				\$2,282.51	
			Price FUEL - 1	otal				\$2,282.51	
	0030 -	Total						\$2,282.51	
	0040	EMBANKMENT IN PLACE	Price FUEL		15	Jan 3, 2022	SYSTEM	\$397.60	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				\$397.60	
		Total	Price FUEL - T	otal				\$397.60	
	0040 -							\$397.60	
	0120 - To	AGGREGATE FOR BASE	Price FUEL		14	Dec 16, 2021	SYSTEM	\$1.68	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
		FOR BASE		- Total				\$1.68	
		Total	Price FUEL - 1	otal				\$1.68	
		Total			-		0) (0==1.4	\$1.68	
	0130	TYPE 5 AGGREGATE FOR BASE (6 IN.	Price FUEL		9	Oct 1, 2021	SYSTEM	\$784.09	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
		THICK)			11	Nov 1, 2021	SYSTEM	\$681.89	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					14	Dec 16, 2021	SYSTEM	\$86.31	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
			Drice FUEL T	- Total				\$1,552.29	
	0130 -	Total	Price FUEL - 1	Otal				\$1,552.29 \$1,552.29	
	0130 -	MISC.	Overrun	Overrun	11	Nov 1,	SYSTEM	\$1,552.29 (\$11,118.36)	
	0.190	IVIIGU.	Overiuli	Overruit	15	Jan 4,	SYSTEM	\$2,233.96	Unit price based on averaged overrun adjustments for installed quantity on all
						2022	S. STEIW	ψ <u>-</u> ,200.00	previous payment estimates. Price Adjustments of ',58.45000 - 58.45000, 'is applied (if non-zero).
				Overrun - T	otal			(\$8,884.40)	
			Overrun - Tota	ıl				(\$8,884.40)	
	0190 -							(\$8,884.40)	
	0200	BITUMINOUS PAVEMENT MIXTURE	Material		10	Oct 18, 2021	SYSTEM	(\$13,761.40)	
		PG64-22 (SUR			11	Nov 1, 2021	SYSTEM	(\$27,154.30)	
				- Total				(\$40,915.70)	
			Material - Tota	ıl				(\$40,915.70)	
			MaterialCredit		11	Nov 1, 2021	SYSTEM	\$13,761.40	
					12	Nov 16, 2021	SYSTEM	\$27,154.30	
				- Total				\$40,915.70	
			MaterialCredit					\$40,915.70	
			Other Item	ACAD	10	Oct 18,	martijc	\$1,046.64	For paving between 10/01-10/15 martijc



ject	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
3262	0200	BITUMINOUS	Adjustment	ACAD		2021			Dage Index: 445
		PAVEMENT MIXTURE							Base Index: 415
		PG64-22 (SUR							Current Index: 490
									Difference: 75
					44	No. 4		04.040.00	75 x 258.43 x .054 = \$5,236.77
					11	Nov 1, 2021	martijc	\$1,018.62	For paving between 10/15-10/31 martijc
									Base Index: 415
									Current Index: 490
									Difference: 75
					12	Nov 16	whitem?	¢16 706 02	75 x 251.51 x .054 = \$1,018.62
					12	Nov 16, 2021	whitem3	\$16,786.93	Month/Year contract was let: Feb 2021 Base Index = 415 Month/Year of the Estimate Period which work was performed: Nov 2021 Current Index (month before work) = 490 Estimate Period for the month indicated above: First Estimate Number: 0012 Virgin AC% = 5.40% (BP2 18-41) Current Index - Base Index = 490 - 415 = 75
									AC Adjustment(\$) = Index Difference(\$/Ton) x Installed Quantity (Tons) x Virgin
									AC% Fuel Adjustment(\$) = \$75/Ton x 4144.92 x 5.4% = \$16,786.93
									*See 210219-G03_J7P3262_Est0012_AC_Adjustment_Tons in e-projects.
					13	Dec 1, 2021	martijc	\$8,408.45	Total paving quantities for surface leveling (Line 0200) and mainline paving (Line 0210) for 11/16/2021 to 11/19/2021. Current Index: 490 Base Index: 415 Index Difference: 75
									75 x 2076.16 x .054= \$8408.45
					14	Dec 16, 2021	martijc	(\$8,326.72)	Current index: 490 Base Index: 415 Difference: 75
									75 x -2055.98 x 0.54 = \$-8326.72
				ACAD - Tot				\$18,933.92	
			Other Item Ad	justment - To	tal			\$18,933.92	
				_	40	D 4	0)/07514	(0.105.115.07)	
			Overrun	Overrun		Dec 1, 2021	SYSTEM	(\$105,145.27) \$105,145,27	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
			Overrun		14		SYSTEM SYSTEM	\$105,145.27	Reference Item Price Adjustment Index Adjustment Type applied is FUEL Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',55.97240 - 53.25000, 'is applied (if non-zero).
				Overrun - T	14	2021 Dec 16,		\$105,145.27 \$0.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',55.97240 - 53.25000, 'is
			Overrun - Tota	Overrun - T	14 otal	2021 Dec 16, 2021	SYSTEM	\$105,145.27 \$0.00 \$0.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',55.97240 - 53.25000, 'is applied (if non-zero).
				Overrun - T	14	2021 Dec 16,		\$105,145.27 \$0.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',55.97240 - 53.25000, 'is
			Overrun - Tota	Overrun - T	14 otal	2021 Dec 16, 2021 Oct 18,	SYSTEM	\$105,145.27 \$0.00 \$0.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',55.97240 - 53.25000, 'is applied (if non-zero).
			Overrun - Tota	Overrun - T	14 otal	2021 Dec 16, 2021 Oct 18, 2021 Nov 1,	SYSTEM	\$105,145.27 \$0.00 \$0.00 \$686.39	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',55.97240 - 53.25000, 'is applied (if non-zero). Reference Item Price Adjustment Index Adjustment Type applied is FUEL
			Overrun - Tota	Overrun - T	14 otal 10 11	2021 Dec 16, 2021 Oct 18, 2021 Nov 1, 2021 Nov 16,	SYSTEM SYSTEM SYSTEM	\$105,145.27 \$0.00 \$0.00 \$686.39 \$668.01	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',55.97240 - 53.25000, 'is applied (if non-zero). Reference Item Price Adjustment Index Adjustment Type applied is FUEL Reference Item Price Adjustment Index Adjustment Type applied is FUEL
			Overrun - Tota	Overrun - T	14 otal 10 11 12	2021 Dec 16, 2021 Oct 18, 2021 Nov 1, 2021 Nov 16, 2021 Nov 30,	SYSTEM SYSTEM SYSTEM	\$105,145.27 \$0.00 \$0.00 \$686.39 \$668.01 \$11,284.12	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',55.97240 - 53.25000, 'is applied (if non-zero). Reference Item Price Adjustment Index Adjustment Type applied is FUEL Reference Item Price Adjustment Index Adjustment Type applied is FUEL Reference Item Price Adjustment Index Adjustment Type applied is FUEL
			Overrun - Tota	Overrun - T	14 10 11 12 13	2021 Dec 16, 2021 Oct 18, 2021 Nov 1, 2021 Nov 16, 2021 Nov 30, 2021 Nov 30,	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	\$105,145.27 \$0.00 \$0.00 \$686.39 \$668.01 \$11,284.12 \$3,052.38	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',55.97240 - 53.25000, 'is applied (if non-zero). Reference Item Price Adjustment Index Adjustment Type applied is FUEL Reference Item Price Adjustment Index Adjustment Type applied is FUEL Reference Item Price Adjustment Index Adjustment Type applied is FUEL Reference Item Price Adjustment Index Adjustment Type applied is FUEL
			Overrun - Tota	Overrun - T	14 10 11 12 13 13	2021 Dec 16, 2021 Oct 18, 2021 Nov 1, 2021 Nov 30, 2021 Nov 30, 2021 Dec 16,	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	\$105,145.27 \$0.00 \$0.00 \$686.39 \$668.01 \$11,284.12 \$3,052.38 \$2,599.76	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',55.97240 - 53.25000, 'is applied (if non-zero). Reference Item Price Adjustment Index Adjustment Type applied is FUEL Reference Item Price Adjustment Index Adjustment Type applied is FUEL Reference Item Price Adjustment Index Adjustment Type applied is FUEL Reference Item Price Adjustment Index Adjustment Type applied is FUEL Reference Item Price Adjustment Index Adjustment Type applied is FUEL
			Overrun - Tota	Overrun - T al - Total	14 10 11 12 13 13 14	2021 Dec 16, 2021 Oct 18, 2021 Nov 1, 2021 Nov 16, 2021 Nov 30, 2021 Dec 16, 2021 Feb 1,	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	\$105,145.27 \$0.00 \$0.00 \$686.39 \$668.01 \$11,284.12 \$3,052.38 \$2,599.76 (\$5,460.68)	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',55.97240 - 53.25000, 'is applied (if non-zero). Reference Item Price Adjustment Index Adjustment Type applied is FUEL Reference Item Price Adjustment Index Adjustment Type applied is FUEL Reference Item Price Adjustment Index Adjustment Type applied is FUEL Reference Item Price Adjustment Index Adjustment Type applied is FUEL Reference Item Price Adjustment Index Adjustment Type applied is FUEL Reference Item Price Adjustment Index Adjustment Type applied is FUEL
			Overrun - Tota	Overrun - T al - Total	14 10 11 12 13 13 14	2021 Dec 16, 2021 Oct 18, 2021 Nov 1, 2021 Nov 16, 2021 Nov 30, 2021 Dec 16, 2021 Feb 1,	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	\$105,145.27 \$0.00 \$0.00 \$686.39 \$668.01 \$11,284.12 \$3,052.38 \$2,599.76 (\$5,460.68) (\$0.10) \$12,829.88 \$12,829.88	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',55.97240 - 53.25000, 'is applied (if non-zero). Reference Item Price Adjustment Index Adjustment Type applied is FUEL Reference Item Price Adjustment Index Adjustment Type applied is FUEL Reference Item Price Adjustment Index Adjustment Type applied is FUEL Reference Item Price Adjustment Index Adjustment Type applied is FUEL Reference Item Price Adjustment Index Adjustment Type applied is FUEL Reference Item Price Adjustment Index Adjustment Type applied is FUEL
	0200 -		Overrun - Tota Price FUEL	Overrun - T al - Total Fotal	14 10 11 12 13 13 14 17	2021 Dec 16, 2021 Oct 18, 2021 Nov 1, 2021 Nov 30, 2021 Nov 30, 2021 Dec 16, 2021 Feb 1, 2022	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	\$105,145.27 \$0.00 \$0.00 \$686.39 \$668.01 \$11,284.12 \$3,052.38 \$2,599.76 (\$5,460.68) (\$0.10) \$12,829.88 \$31,763.80	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',55.97240 - 53.25000, 'is applied (if non-zero). Reference Item Price Adjustment Index Adjustment Type applied is FUEL Reference Item Price Adjustment Index Adjustment Type applied is FUEL Reference Item Price Adjustment Index Adjustment Type applied is FUEL Reference Item Price Adjustment Index Adjustment Type applied is FUEL Reference Item Price Adjustment Index Adjustment Type applied is FUEL Reference Item Price Adjustment Index Adjustment Type applied is FUEL Reference Item Price Adjustment Index Adjustment Type applied is FUEL
	0200 - 0210	ASPH. CONC. MIXTURE PG	Overrun - Tota	Overrun - T al - Total	14 10 11 12 13 13 14 17	2021 Dec 16, 2021 Oct 18, 2021 Nov 1, 2021 Nov 16, 2021 Nov 30, 2021 Dec 16, 2021 Feb 1,	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	\$105,145.27 \$0.00 \$0.00 \$686.39 \$668.01 \$11,284.12 \$3,052.38 \$2,599.76 (\$5,460.68) (\$0.10) \$12,829.88 \$12,829.88	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',55.97240 - 53.25000, 'is applied (if non-zero). Reference Item Price Adjustment Index Adjustment Type applied is FUEL Reference Item Price Adjustment Index Adjustment Type applied is FUEL Reference Item Price Adjustment Index Adjustment Type applied is FUEL Reference Item Price Adjustment Index Adjustment Type applied is FUEL Reference Item Price Adjustment Index Adjustment Type applied is FUEL Reference Item Price Adjustment Index Adjustment Type applied is FUEL Reference Item Price Adjustment Index Adjustment Type applied is FUEL Reference Item Price Adjustment Index Adjustment Type applied is FUEL For paving between 10/01-10/15 martijc
		ASPH. CONC.	Overrun - Tota Price FUEL Price FUEL - 1	Overrun - T al - Total Fotal	14 10 11 12 13 13 14 17	2021 Dec 16, 2021 Oct 18, 2021 Nov 1, 2021 Nov 30, 2021 Dec 16, 2021 Feb 1, 2022 Oct 18,	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	\$105,145.27 \$0.00 \$0.00 \$686.39 \$668.01 \$11,284.12 \$3,052.38 \$2,599.76 (\$5,460.68) (\$0.10) \$12,829.88 \$31,763.80	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',55.97240 - 53.25000, 'is applied (if non-zero). Reference Item Price Adjustment Index Adjustment Type applied is FUEL Reference Item Price Adjustment Index Adjustment Type applied is FUEL Reference Item Price Adjustment Index Adjustment Type applied is FUEL Reference Item Price Adjustment Index Adjustment Type applied is FUEL Reference Item Price Adjustment Index Adjustment Type applied is FUEL Reference Item Price Adjustment Index Adjustment Type applied is FUEL Reference Item Price Adjustment Index Adjustment Type applied is FUEL



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks				
J7P3262	0210	ASPH. CONC. MIXTURE PG 70-22 (SP095C)	Other Item Adjustment	ACAD					Difference: 75 75 x 1618.33 x .048 = \$5,825.99				
		(((((11	Nov 1,	martijc	\$4,585.54	For paving between 10/15-10/31 martijc				
						2021			Base Index: 415				
									Current Index: 490				
									Difference: 75				
									75 x 1,273.76 x .048 = \$4,585.54				
					12	Nov 16, 2021	whitem3	\$51,695.86	Month/Year contract was let: Feb 2021 Base Index = 415 Month/Year of the Estimate Period which work was performed: Nov 2021 Current Index (month before work) = 490 Estimate Period for the month indicated above: First Estimate Number: 0012 Virgin AC% = 4.80% (SP095 21-59) Current Index - Base Index = 490 – 415 = 75				
									AC Adjustment(\$) = Index Difference(\$/Ton) x Installed Quantity (Tons) x Virgin AC% Fuel Adjustment(\$) = \$75/Ton x 14359.96 x 4.8% = \$51,695.86				
									*See 210219-G03_J7P3262_Est0012_AC_Adjustment_Tons in e-projects.				
					13	Dec 1, 2021	martijc	\$11,514.34	Total paving quantities for surface leveling (Line 0200) and mainline paving (Line 0210) for 11/16/2021 to 11/19/2021. Current Index: 490 Base Index: 415 Index Difference: 75				
											75 x 3198.43 x .048= \$11,514.34		
					14	Dec 16, 2021	martijc	(\$2,469.24)	Current index: 490 Base Index: 415 Difference: 75				
													75 x -685.90 x 0.48 = \$-2469.24
				ACAD - Tota	al			\$71,152.49					
				OTHR		Feb 15, 2022	fielda4	(\$3,736.26)	For asphalt IC laid from 10/15/2021 to 11/18/2021. See IC/IR summary in eProjects for details.				
					18	Feb 15, 2022	fielda4	\$1,414.00	For asphalt IR laid from 10/15/2021 to 11/18/2021. See IC/IR summary in eProjects for details.				
					18	Feb 15, 2022	fielda4	\$38,969.45	J7P3262 IRI Bonus				
										2022			See IRI summary sheet for further breakdown NB Driving Lane: \$20,388.80 SB Driving Lane: \$18,580.65
									Total: \$38,969.45				
					18	Feb 15, 2022	fielda4	\$29,775.20	J7P3262 SPAD Pay Factor:				
									Line: 0210 Mix ID: SP095 21-59				
									Lot 1: 4,000 Tons x \$52.40/Tons x .023 = \$4,820.80 See 21SWTAL098 for specifics.				
										Lot 2: 4,000 Tons x \$52.40/Tons x007 = \$-1,467.20 See 21SWTAL092 for specifics.			
									Lot 3: 4,000 Tons x \$52.40/Tons x .039 = \$8,174.40 See 21SWTAL099 for specifics.				
									Lot 4: 4,000 Tons x \$52.40/Tons x .04 = \$8,384.00 See 21SWTAL103 for specifics.				
									Lot 5: 3,764.58 Tons x \$52.40/Tons x .05 = \$9,863.20 See 21SWTAL109 for specifics.				
					18	Feb 15, 2022	fielda4	\$31,069.92	J7P3262 TSR Adjustments				
									Mix ID: SP095 21-59 Lots 1A-3B (TSR 96%): Bonus = 3% 10,000 TONS x \$52.4 x .03 = \$15,720.00 See Ident: 21SWTAL097				
									Lots 3C-5D (TSR 96%): Bonus = 3% 9764.58 TONS x \$52.4 x .03 = \$15,349.92 See Ident: 21SWTAL105				



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
17P3262	0210	ASPH. CONC. MIXTURE PG	Other Item Adjustment	OTHR	18	Feb 15, 2022	fielda4	\$31,069.92	Line Item 0210: Per JSP P 3.0, 4.0 Ideal CT and Hamburg wheel track testing:
		70-22 (SP095C)	,						Lots 1A-3B (CT Index 107%): Bonus = 3% 10,000 TONS x \$52.4 x .03 = \$15,720.00
									Lots 3C-5D (CT Index 156%): Bonus = 3% 9764.58 TONS x \$52.4 x .03 = \$15,349.92
									Total: \$31,069.92
					18	Feb 15, 2022	fielda4	\$5,764.00	Line Item 0210: Per JSP P 8.0 Elevated Density:
									J7P3262 Qualifying Sublots: 1A, 1C, 1D, 2B, 2D, 3A, 4A, 4B, 4C, 5B, and 5C Bonus = 1%
									11,000 TONS x \$52.4 x .01 = \$5,764.00
									See Asphalt Core Data for additional information
				OTHR - Tot	al			\$134,326.23	
			Other Item Ad	justment - To	otal			\$205,478.72	
			Overrun	Overrun	13	Dec 1, 2021	SYSTEM	(\$43,110.13)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					14	Dec 16, 2021	SYSTEM	\$37,808.46	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',55.12240 - 52.40000, 'is applied (if non-zero).
					17	Feb 1, 2022	SYSTEM	(\$1.10)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				Overrun - T	otal			(\$5,302.77)	
			Overrun - Tota	al				(\$5,302.77)	
			Price FUEL		10	Oct 18, 2021	SYSTEM	\$4,298.28	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					11	Nov 1, 2021	SYSTEM	\$3,383.11	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					12	Nov 16, 2021	SYSTEM	\$39,093.55	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					13	Nov 30, 2021	SYSTEM	\$8,707.41	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					14	Dec 16, 2021	SYSTEM	(\$1,821.75)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					17	Feb 1, 2022	SYSTEM	\$0.05	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				\$53,660.65	
			Price FUEL - 1	Γotal				\$53,660.65	
	0210 -	Total						\$253,836.60	
	0220	TACK COAT	Overrun	Overrun	17	Feb 1, 2022	SYSTEM	(\$4,928.84)	
				Overrun - T	otal			(\$4,928.84)	
			Overrun - Tota	al				(\$4,928.84)	
	0220 -	Total						(\$4,928.84)	
	0240	CONCRETE PAVEMENT (9	Price FUEL		14	Dec 16, 2021	SYSTEM	\$210.36	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
		IN. NON- REINFORCED,		- Total				\$210.36	
			Price FUEL - 1	Γotal				\$210.36	
	0240 -	Total						\$210.36	
	0270	PIPE AGGREGATE	Material		14	Dec 16, 2021	SYSTEM	(\$14,160.00)	
		PAVEMENT EDGE DRAIN		- Total				(\$14,160.00)	
			Material - Tota	al				(\$14,160.00)	
			MaterialCredit		15	Jan 4, 2022	SYSTEM	\$14,160.00	
				- Total				\$14,160.00	
			MaterialCredit	t - Total				\$14,160.00	
	0270 -	Total						\$0.00	
	0280	OUTLET PIPES	Material		14	Dec 16	SYSTEM	(\$500.00)	
	0200	33.22111120				200 10,	2 . 2 I LIVI	(4500.00)	



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J7P3262	0280	AND SPLASH PADS	Material			2021			
		FADS		- Total				(\$500.00)	
			Material - Tota	al				(\$500.00)	
			MaterialCredit		15	Jan 4, 2022	SYSTEM	\$500.00	
				- Total				\$500.00	
			MaterialCredit	t - Total				\$500.00	
	0280 -	Total						\$0.00	
	0330	6 IN. CONCRETE	Overrun	Overrun	14	Dec 16, 2021	SYSTEM	(\$43,684.00)	
		MEDIAN STRIP		Overrun - T	otal			(\$43,684.00)	
			Overrun - Tota	al				(\$43,684.00)	
	0330 -	Total						(\$43,684.00)	
	0360	INTEGRAL CURB (6 IN.	Overrun	Overrun	11	Nov 1, 2021	SYSTEM	(\$110.00)	
		HEIGHT AND UNDER)			14	Dec 16, 2021	SYSTEM	\$110.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',11.00000 - 11.00000, 'is applied (if non-zero).
				Overrun - T	otal			\$0.00	
			Overrun - Tota	al				\$0.00	
	0360 -	Total						\$0.00	
	0370	CONCRETE CURB LOW	Overrun	Overrun	11	Nov 1, 2021	SYSTEM	(\$185.50)	
		PROFILE TYPE F			14	Dec 16, 2021	SYSTEM	\$185.50	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',18.55000 - 18.55000, 'is applied (if non-zero).
			Overrun - T	otal			\$0.00		
	0070 Tabel	Overrun - Tota	al				\$0.00		
	0370 -	Total						\$0.00	
	0620	4 IN. YELLOW HIGH BUILD WATERBORNE PAINT	Other Item Adjustment	REFL - Tota		Feb 15, 2022	fielda4	\$12.07 \$12.07	J7P3262 Retroreflectivity Adjustment Supporting documentation is saved in eProjects at: http://eprojects/Docs/7P3262/210219- G03_J7P3262_Est0018_Retroreflectivity_Payment_Adjustment_J7P3262.xlsm? d=w0fc75ef1365d4ed198cf92ae3f8daaef
			Other Item Ad					\$12.07	
	0620 -	Total	Other item Au	ijustilietit - re	rtai			\$12.07	
	0890	SEEDING - COOL SEASON	Overrun	Overrun	14	Dec 16, 2021	SYSTEM	(\$1,302.50)	
		MIXTURES		Overrun - T	otal	2021		(\$1,302.50)	
			Overrun - Tota					(\$1,302.50)	
	0890 -	Total						(\$1,302.50)	
	0960	MISC.	Other Item Adjustment	ACAD	14	Dec 16, 2021	martijc	\$12,705.28	Current index: 487.5 Base Index: 415 Difference: 72.5
									SP250 21-71A: 72.5 T x 1.98 T/CY x 8 " / 9316.61 SY x .036 = \$10,699.19 SP250 21-71: 72.5 T x 1.98 T/CY x 3 " / 3493.73 SY x .036 = \$1,504.57 SP095 21-59: 72.5 T x 1.98 T/CY x 1.5 " / 1746.86 SY x .048 = \$501.52
				ACAD - Tot	al			\$12,705.28	
				FUEL	14	Dec 16, 2021	martijc	\$26,581.45	Current index: 2.47 Base Index: 1.67 Difference: 0.80
									0.80 x 10008.08 x 3.32000 = \$26,581.45
				FUEL - Tota	ıl			\$26,581.45	
				OTHR	18	Feb 15,	fielda4	\$7,438.51	J7P3262 SPAD Pay Factor:
						2022			Line: 0960 Mix ID: SP250 21-71A
									Lot 1: 9,016.38 SY (6192.29 Tons) x \$37.50/sy x .022 = \$7,438.51 See 21SWSMK013 for specifics.



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J7P3262	0960	MISC.	Other Item Adjustment	OTHR	18	Feb 15, 2022	fielda4	\$16,376.83	J7P3262 TSR Adjustments Mix ID: SP095 21-59 Lots 1A (TSR 94%): Bonus = 3% 1,690.5 SQYD x \$37.5 x .03 = \$1,901.81 See Ident: 21SWTAL095 Mix ID: SP250 21-71 Lots 1A-1D (TSR 91%): Bonus = 3% 3,850.3 SQYD x \$37.5 x .03 = \$4,331.59
									See Ident: 21SWTAL089 Mix ID: SP250 21-71A Lots 1A-3B (TSR 97%): Bonus = 3% 9,016.4 SQYD x \$37.5 x .03 = \$10,143.43 See Ident: 21SWTAL089
				OTHR - Tota				\$23,815.34	
			Other Item Ad			Dec 46	CVCTEM	\$63,102.07	
			Overrun	Overrun		Dec 16, 2021	SYSTEM	(\$17,591.25)	
			Outside Tab	Overrun - T	otal			(\$17,591.25)	
	0960 -	Total	Overrun - Tota					(\$17,591.25) \$45,510.82	
	0980	TYPE A2 SHOULDER	Material		13	Dec 1, 2021	SYSTEM	(\$18,384.52)	
				- Total				(\$18,384.52)	
			Material - Tota	1				(\$18,384.52)	
			MaterialCredit		14	Dec 16, 2021	SYSTEM	\$18,384.52	
				- Total				\$18,384.52	
			MaterialCredit	- Total				\$18,384.52	
	0980 -	Total						\$0.00	
	1000	MGS GUARDRAIL	Construction Stockpile		12	Nov 16, 2021	SYSTEM	(\$6,279.50)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$6,279.50)	
			Construction	Stockpile - To				(\$6,279.50)	
			Construction Stockpile STMI	Total	3	Jun 30, 2021	SYSTEM	\$6,279.50 \$6,279.50	Payment Estimate Item Adjustment generated Stockpile Transaction
			Construction	- Total	MI - Total			\$6,279.50	
	1000 -	Total	Construction	otockpile o i i	vii - Totai			\$0.00	
	1010	MGS VERTICAL CONCRETE	Construction Stockpile		12	Nov 16, 2021	SYSTEM	(\$5,824.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
		BARRIER TRANSITION		- Total				(\$5,824.00)	
			Construction	Stockpile - To	otal			(\$5,824.00)	
			Construction Stockpile STMI		3	Jun 30, 2021	SYSTEM	\$5,824.00	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				\$5,824.00	
			Construction	Stockpile STI	VII - Total			\$5,824.00	
	1010 - 1020	Total TYPE A CRASHWORTHY	Construction Stockpile		12	Nov 16, 2021	SYSTEM	\$0.00 (\$6,209.78)	Payment Estimate Item Adjustment generated Stockpile Transaction
		END TERMINAL (MASH)	Stoonpile	- Total		2021		(\$6,209.78)	
		(IVIAGH)	Construction		otal			(\$6,209.78)	
			Construction Stockpile		3	Jun 30, 2021	SYSTEM	\$6,209.78	Payment Estimate Item Adjustment generated Stockpile Transaction
			STMI	- Total				\$6,209.78	
			Construction	Stockpile STI	MI - Total			\$6,209.78	
	1020 -	Total						\$0.00	
	1210	CONDUIT, 3 IN., TRENCH WITH TRACER WIRE	Overrun	Overrun	13	Dec 1, 2021	SYSTEM	(\$1,472.00)	
					14	Dec 16, 2021	SYSTEM	\$1,472.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',16.00000 - 16.00000, 'is



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J7P3262	1210	CONDUIT, 3 IN.,	Overrun	Overrun					applied (if non-zero).
		TRENCH WITH TRACER WIRE		Overrun - T	otal			\$0.00	
			Overrun - Tota	al				\$0.00	
	1210 -	Total						\$0.00	
	1280	BASE, CONCRETE	Material		12	Nov 16, 2021	SYSTEM	(\$6,163.20)	
					13	Dec 1, 2021	SYSTEM	(\$16,692.00)	
					14	Dec 16, 2021	SYSTEM	(\$16,692.00)	
				- Total				(\$39,547.20)	
			Material - Tota	al .				(\$39,547.20)	
			MaterialCredit		13	Dec 1, 2021	SYSTEM	\$6,163.20	
					14	Dec 16, 2021	SYSTEM	\$16,692.00	
					15	Jan 4, 2022	SYSTEM	\$16,692.00	
				- Total				\$39,547.20	
			MaterialCredit	t - Total				\$39,547.20	
	1280 -							\$0.00	
	1330	CONCRETE FOOTINGS, EMBEDDED	Material		14	Dec 16, 2021	SYSTEM	(\$6,331.80)	
				- Total				(\$6,331.80)	
			Material - Tota	al				(\$6,331.80)	
			MaterialCredit		15	Jan 4, 2022	SYSTEM	\$6,331.80	
				- Total				\$6,331.80	
			MaterialCredit	t - Total				\$6,331.80	
	1330 -		_					\$0.00	
	1370	2 IN. PSST POST - 12 GA.	Overrun	Overrun		Nov 1, 2021	SYSTEM	(\$1,482.25)	
					14	Dec 16, 2021	SYSTEM	\$1,482.25	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',6.05000 - 6.05000, 'is applied (if non-zero).
				Overrun - T	otal			\$0.00	
			Overrun - Tota	al				\$0.00	
	1370 -	· Total						\$0.00	
	1380	POST ANCHOR FOR 2 IN. PSST	Overrun	Overrun	11	Nov 1, 2021	SYSTEM	(\$1,711.05)	
		- 7 GA.			14	Dec 16, 2021	SYSTEM	\$1,711.05	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',33.55000 - 33.55000, 'is applied (if non-zero).
				Overrun - T	otal			\$0.00	
			Overrun - Tota					\$0.00	
	1380 -	· Total						\$0.00	
	1400	2.5 IN. PSST POST - 12 GA.	Overrun	Overrun	11	Nov 1, 2021	SYSTEM	(\$490.00)	
					14	Dec 16, 2021	SYSTEM	\$490.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',7.00000 - 7.00000, 'is applied
				Overmon	otol			- 60.00	(if non-zero).
			Overrun - Tota	Overrun - T	Olai			\$0.00 \$0.00	
	1400 -	Total	Overrun - Tota	Al .					
			Oute was the	0	44	Neud	CVCTEM	\$0.00	
	1410	POST ANCHOR FOR 2.5 IN.	Overrun	Overrun	11	Nov 1, 2021	SYSTEM	(\$1,876.50)	
		PSST - 7 GA.			14		CVCTEM	¢4 070 F0	Unit price based on averaged everyin adjustments for installed eventiles and
					14	Dec 16, 2021	SYSTEM	\$1,876.50	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',34.75000 - 34.75000, 'is applied (if non-zero).



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J7P3262	1410	POST ANCHOR FOR 2.5 IN. PSST - 7 GA.	Overrun - Tota					\$0.00	
	1410 -	1410 - Total						\$0.00	
	1420	SH-FLAT SHEET	Construction Stockpile		9	Oct 1, 2021	SYSTEM	(\$3,752.50)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$3,752.50)	
			Construction	Stockpile - To	otal			(\$3,752.50)	
			Construction Stockpile STMI		7	Sep 2, 2021	SYSTEM	\$3,752.50	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				\$3,752.50	
			Construction				01/0==1/	\$3,752.50	
			Overrun	Overrun	11	Nov 1, 2021 Dec 16,	SYSTEM	(\$1,249.69) \$1,249.69	Unit price based an evergoed everying adjustments for installed quantity as all
					14	2021	STSTEW	\$1,249.09	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',13.00000 - 13.00000, 'is applied (if non-zero).
				Overrun - T	otal			\$0.00	
			Overrun - Tota	ıl				\$0.00	
	1420 -							\$0.00	
	1430	ST- STRUCTURAL	Construction Stockpile		9	Oct 1, 2021	SYSTEM	(\$1,599.60)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$1,599.60)	
			Construction	Stockpile - To				(\$1,599.60)	
			Construction Stockpile STMI	- Total	7	Sep 2, 2021	SYSTEM	\$1,599.60 \$1,599.60	Payment Estimate Item Adjustment generated Stockpile Transaction
			Construction		MI Total			\$1,599.60	
	1430 -	Total	Construction	Stockpile 311	WII - TOTAL			\$0.00	
	1440	SHF-FLAT SHEET FLUORESCENT	Construction Stockpile		9	Oct 1, 2021	SYSTEM	(\$3,204.60)	Payment Estimate Item Adjustment generated Stockpile Transaction
		, EGG, LEGGEN		- Total				(\$3,204.60)	
			Construction	Stockpile - To	otal			(\$3,204.60)	
			Construction Stockpile STMI		7	Sep 2, 2021	SYSTEM	\$3,204.60	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				\$3,204.60	
			Construction : Overrun	Overrun		Nov 1, 2021	SYSTEM	\$3,204.60 (\$1,241.25)	
					14	Dec 16, 2021	SYSTEM	\$1,241.25	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',16.55000 - 16.55000, 'is applied (if non-zero).
				Overrun - T	otal			\$0.00	
			Overrun - Tota	ıl				\$0.00	
	1440 -	Total						\$0.00	
J7P3262 -								\$276,767.99	
J7P3263	1490	BITUMINOUS PAVEMENT MIXTURE	Other Item Adjustment	ACAD	6	Aug 16, 2021	haskej1	\$3,164.65	AC Adjustment for Line #1490 873.61-ton x (\$493.75 - \$415.00) x 4.6% AC = \$ 3,164.65 haskej1
		PG64-22 (SUR		ACAD - Tota	al			\$3,164.65	
			Other Item Ad	justment - To	otal			\$3,164.65	
			Price FUEL		6	Aug 16, 2021	SYSTEM	\$1,740.23	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					17	Feb 1, 2022	SYSTEM	(\$0.02)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				\$1,740.21	
			Price FUEL - T	otal				\$1,740.21	
	1490 -		Other It :	4045	F	Aug 2	ma411	\$4,904.86	4400 40 Tanay (0470 75 - 0445 00) y 4 00/ 4 0 - 040 055 40
	1500	ASPH. CONC. MIXTURE PG	Other Item Adjustment	ACAD	5	Aug 3, 2021	martijc	\$13,655.19	4462.48 Tons x (\$478.75 - \$415.00) x 4.8% AC = \$13,655.19 martijc



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks	
J7P3263	7P3263 1500 70-22 (SP09	70-22 (SP095C)	Other Item Adjustment	ACAD	6	Aug 16, 2021	haskej1	\$21,768.64	AC Adjustment for Line #1500 5,758.90-ton x (\$493.75 - \$415.00) x 4.8% AC = \$ 21,768.64 haskej1	
				ACAD - Tot	al			\$35,423.83		
				INTC	5	Aug 3, 2021	martijc	\$2,566.08	For asphalt IC laid from 7/28/21 to 8/01/21; see IC summary in eProjects for details. martijc	
					5	Aug 3, 2021	martijc	\$665.00	For asphalt IR laid from 7/28/21 to 8/01/21; see IR summary in eProjects for details. martijc	
					7	Sep 2, 2021	haskej1	\$2,729.63	For asphalt IC laid from 8/2/21 to 8/15/21 see IC summary in e-projects for details. haskej1	
					7	Sep 2, 2021	haskej1	\$707.00	For asphalt IR laid from 8/2/21 to 8/15/21 see IR summary in e-projects for details. haskej1	
				INTC - Tota				\$6,667.71		
				OTHR	6	Aug 16, 2021	haskej1	\$9,476.00	This is the pay factor for Lot # 8 4000 x \$51.50 x 4.6 % = \$9,476.00 See 21SWTAL051 for specifics. haskej1	
					6	Aug 16, 2021	haskej1	\$10,094.00	This is the pay factor for Lot #7 4000 x \$51.50 x 4.9% = \$10,094.00 See 21SWTAL048 for specifics. haskej1	
					7	Sep 2, 2021	haskej1	\$10,094.00	This is the pay factor for Lot #1 4000 x \$51.50 x 4.9% = \$10,094.00 See 21SWTAL048 for specifics. haskej1	
					7	Sep 2, 2021	haskej1	\$13,136.44	This is the pay factor for Lot #2 6221.38 x \$51.50 x 4.1% = \$13,136.44 See 21SWTAL051 for specifics. haskej1	
					7	Sep 2, 2021	haskej1	(\$10,094.00)	To offset incorrect adjustment on Est. 0006	
						7	Sep 2, 2021	haskej1	(\$9,476.00)	To offset incorrect adjustment on Est. 0006
					18	Feb 15,	fielda4	\$9,945.98	J7P3263 IRI Bonus	
						2022			See IRI summary sheet for further breakdown NB Driving Lane: \$2,328.89 NB Passing Lane: \$2,350.74 Center Turn Lane: \$887.22 SB Driving Lane: \$2,180.63 SB Passing Lane: \$2,198.50	
									Total: \$9,945.98	
						18	Feb 15, 2022	fielda4	\$15,792.06	J7P3263 TSR Adjustments Mix ID: SP095 21-59 Lots 1A-3C (TSR 90%): Bonus = 3% 10.221.4 TONS x \$51.5 x .03 = \$15,792.06 See Ident: 21SWTAL027
					18	Feb 15, 2022	fielda4	\$15,792.06	Line Item 1500: Per JSP P 3.0, 4.0 Ideal CT and Hamburg wheel track testing:	
									Lots 1A-3C (CT Index 111%): Bonus = 3% 10,221.4 TONS x \$51.5 x .03 = \$15,792.06	
									Total: \$15,792.06	
					18	Feb 15, 2022	fielda4	\$4,120.00	Line Item 1500: Per JSP P 8.0 Elevated Density:	
									J7P3263 Qualifying Sublots: 1C, 1D, 2A, 2C, 2D, 2E, 2F, and 2G Bonus = 1%	
									8,000 TONS x \$51.50 x .01 = \$4,120.00	
									See Asphalt Core Data for additional information	
				OTHR - Tota	al			\$68,880.54		
			Other Item Ad	ljustment - To	tal			\$110,972.08		
			Overrun	Overrun	6	Aug 16, 2021	SYSTEM	(\$79.17)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL	
			Overrun - Tota		17	Feb 1, 2022	SYSTEM	(\$1.08)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL	
				Overrun - Total				(\$80.25)		
				al				(\$80.25)		
			Price FUEL		5	Aug 3, 2021	SYSTEM	\$7,704.02	Reference Item Price Adjustment Index Adjustment Type applied is FUEL	



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J7P3263	1500		Price FUEL		6	Aug 16, 2021	SYSTEM	\$11,471.73	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					17	Feb 1, 2022	SYSTEM	\$0.05	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				\$19,175.80	
			Price FUEL - 1	otal				\$19,175.80	
	1500 -	Total						\$130,067.63	
	1510	ASPHALTIC CONCRETE	Other Item Adjustment	ACAD	5	Aug 3, 2021	martijc	\$9,074.23	3235.02 Tons x (\$478.75 - \$415.00) x 4.4% AC = \$9,074.23 martijc
		MIXTURE PG 70-22 (SP1							Line#1510 SP125 18-40 was ran in lieu of SP190C
		70-22 (01 1			6	Aug 16, 2021	haskej1	\$1,250.87	AC Adjustment for Line #1510 361.00-ton x (\$493.75 - \$415.00) x 4.4% AC = \$ 1,250.87 haskej1
					14	Dec 16, 2021	martijc	(\$1,253.29)	Current index: 493.75 Base Index: 415 Difference: 78.75
									78.75 x -361.70 x 0.44 = \$-1,253.29
					18	Feb 17, 2022	fielda4	\$2.42	Incorrect quantity input on AC adjustment from Estimate 0014. This adjustment reimburses the AC adjustment for the additional 0.7 tons previously removed from the total in error.
				ACAD - Tot	al			\$9,074.23	
				OTHR		Feb 15,	fielda4	\$4,852.53	J7P3263 TSR Adjustments
				Onne	10	2022	noida-r	ψ1,002.00	Mix ID: SP125 18-40 Lots 1A-1D (TSR 97%): Bonus = 3% 3235.02 TONS x \$50.0 x .03 = \$4,852.53
									See Ident: 21SWTAL047
				OTHR - Tota	al			\$4,852.53	
			Other Item Ad	justment - To	tal			\$13,926.76	
			Overrun	Overrun	6	Aug 16, 2021	SYSTEM	(\$1,420.42)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					14	Dec 16, 2021	SYSTEM	\$1,420.42	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',51.99195 - 50.00000, 'is applied (if non-zero).
				Overrun - T	otal			\$0.00	
			Overrun - Tota	al				\$0.00	
			Price FUEL		5	Aug 3, 2021	SYSTEM	\$5,584.94	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					6	Aug 16, 2021	SYSTEM	\$720.51	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					14	Dec 16, 2021	SYSTEM	(\$960.68)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					17	Feb 1, 2022	SYSTEM	(\$0.05)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				\$5,344.72	
			Price FUEL - 1	Total				\$5,344.72	
	1510 -	Total						\$19,271.48	
	1520	TACK COAT	Overrun	Overrun	6	Aug 16, 2021	SYSTEM	(\$5,478.97)	
					17	Feb 1, 2022	SYSTEM	(\$3,158.68)	
				Overrun - T	otal			(\$8,637.65)	
			Overrun - Tota	al				(\$8,637.65)	
	1520 -	Total						(\$8,637.65)	
	1720	6 IN. WHITE HIGH BUILD WATERBORNE PAINT	Other Item Adjustment	REFL	18	Feb 15, 2022	fielda4	\$311.77	J7P3263 Retroreflectivity Adjustment Supporting documentation is saved in eProjects at:
									http://eprojects/Docs/7P3262/210219- G03_J7P3262_Est0018_Retroreflectivity_Payment_Adjustment_J7P3263.xlsm? d=wb142f872b56842a38db3b6fa55b206bc
				REFL - Tota	il			\$311.77	
			Other Item Ad	justment - To	otal			\$311.77	
	1720 -	Total						\$311.77	
	1730	6 IN. YELLOW	Other Item	REFL	18	Feb 15,	fielda4	\$50.70	J7P3263 Retroreflectivity Adjustment



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks							
J7P3263	1730	HIGH BUILD WATERBORNE PAINT	Adjustment			2022			Supporting documentation is saved in eProjects at: http://eprojects/Docs/7P3262/210219-G03_J7P3262_Est0018_Retroreflectivity_Payment_Adjustment_J7P3263.xlsm?d=wb142f872b56842a38db3b6fa55b206bc							
				REFL - Tota	ı			\$50.70								
			Other Item Ad	justment - To	tal			\$50.70								
	1730 -	Total						\$50.70								
	1820	CABLE, LOOP	Overrun	Overrun	7	Sep 2,	SYSTEM	(\$6.25)								
	.020	DETECTOR,	O Vol. al.	Overvan		2021	0.0.2	(40.20)								
		LEAD-IN			14	Dec 16, 2021	SYSTEM	\$6.25	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',1.25000 - 1.25000, 'is applied (if non-zero).							
				Overrun - T	otal			\$0.00								
			Overrun - Tota	.l				\$0.00								
	4000	Total	Overruit - Tota	*'												
								\$0.00								
	1830	36 IN. SURFACE- MOUNT	Construction Stockpile	- Total	9	Oct 1, 2021	SYSTEM	(\$1,449.00)	Payment Estimate Item Adjustment generated Stockpile Transaction							
	DELINEATOR	DELINEATOR POST						(\$1,449.00)								
		1 331	Construction S	Stockpile - To				(\$1,449.00)								
			Construction Stockpile STMI		7	Sep 2, 2021	SYSTEM	\$1,449.00	Payment Estimate Item Adjustment generated Stockpile Transaction							
				- Total				\$1,449.00								
			Construction	Stockpile STI	MI - Total			\$1,449.00								
	1830 -	Total						\$0.00								
J7P3263 -	Total							\$145,968.79								
J7P3268	1880	ASPH. CONC. MIXTURE PG	Other Item Adjustment	ACAD	4	Jul 16, 2021	haskej1	\$48,339.95	15,797.37-ton x (\$478.75 - \$415.00) x 4.8% AC = \$48,339.95 haskej1							
		70-22 (SP095C)			5	Aug 3, 2021	martijc	\$26,442.35	8641.29 Tons x (\$478.75 - \$415.00) x 4.8% AC = \$26,442.35 martijc							
				ACAD - Tota	al			\$74,782.30								
				INTC. Total	4	Jul 19, 2021	LANEK1	\$6,674.18	For asphalt IC laid from 7/6/20 to 7/15/20; see IC summary in eProjects for details. haskej1							
					4	Jul 19, 2021	LANEK1	\$2,723.00	For asphalt IR laid from 7/6/20 to 7/15/20; see IR summary in eProjects for details. haskej1							
					5	Aug 3, 2021	martijc	\$2,991.38	For asphalt IC laid from 7/19/21 to 7/26/21; see IC summary in eProjects for details. martijc							
					5	Aug 3, 2021	martijc	\$1,386.00	For asphalt IR laid from 7/19/21 to 7/26/21; see IR summary in eProjects for details. martijc							
				INTC - Total				\$13,774.56								
				OTHR	4	Jul 16, 2021	haskej1	\$10,120.00	This is the pay factor for Lot # 2 4000 x \$50.60 x 5.0% = \$10,120.00 See 21SWTAL030 for specifics. haskej1							
					4	Jul 16, 2021	haskej1	\$4,048.00	This is the pay factor for Lot # 3 4000 x \$50.60 x 2.0% = \$4,048.00 See 21SWTAL034 for specifics. haskej1							
					4	Jul 16, 2021	haskej1	(\$10,727.20)	This is the pay factor for Lot #1 4000 x \$50.60 x 5.3% = - \$(10,727.20) See 21SWTAL024 for specifics. haskej1							
					5	Aug 3, 2021	martijc	\$7,286.40	This is the pay factor for Lot # 5 4000 x \$50.60 x 3.6 % = \$7,286.40 See 21SWTAL041 for specifics. haskej1							
					5	Aug 3, 2021	martijc	\$3,238.40	This is the pay factor for Lot # 6 4000 x \$50.60 x 1.6 % = \$3,238.40 See 21SWTAL044 for specifics. haskej1							
					5	Aug 3, 2021	martijc	\$7,286.40	This is the pay factor for Lot #4 4000 x \$50.60 x 3.6% = \$7,286.40 See 21SWTAL035for specifics. haskej1							
					5	Aug 3, 2021	martijc	\$15,180.00	This the TSR pay factor for Lots 1A – 3B \$15,180.00 See 21SWTAL027 for specifics. haskej1							
											5	5	Aug 3, 2021	martijc	\$15,180.00	This the TSR pay factor for Lots 3C – 5D \$15,180.00 See 21SWTAL027 for specifics. haskej1
					7	Sep 2,	haskej1	\$3,593.33	This is the pay factor for Lot #6							



Droinet	Lino	Description	Adjustment	Othor	Eat	Crosted	Created	Amount	Pomerko
Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	By	Amount	Remarks
J7P3268	1880	ASPH. CONC. MIXTURE PG	Other Item Adjustment	OTHR		2021			4438.4 x \$50.60 x 1.6% = \$3,593.33 See 21SWTAL044 for specifics. haskej1
		70-22 (SP095C)	, rajaeament		7	Sep 2, 2021	haskej1	(\$3,238.40)	To offset incorrect adjustment on Est. 0005
					18	Feb 15,	fielda4	\$35,417.26	J7P3268 IRI Bonus
						2022	iicida -y	\$55,417.20	See IRI summary sheet for further breakdown NB Driving Lane: \$9,415.00 NB Passing Lane: \$7,897.61 NB Acceleration Lane: \$1,081.82 SB Driving Lane: \$8,189.19 SB Passing Lane: \$8,833.64
									Total: \$35,417.26
					18	Feb 15, 2022	fielda4	\$6,737.95	J7P3268 TSR Adjustments Lots 6A-7A (TSR 96%): Bonus = 3% 4,438.7 TONS x \$50.6 x .03= \$6,737.95 See Ident: 21SWTAL027
					18	Feb 15, 2022	fielda4	\$1,518.00	Line Item 1800: Per JSP P 8.0 Elevated Density:
									J7P3268 Qualifying Sublots: 3A, 4D, and 6D Bonus = 1%
									3,000 TONS x \$50.60 x .01 = \$1,518.00
									See Asphalt Core Data for additional information
					18	Feb 15, 2022	fielda4	\$37,097.95	Line Item 1880: Per JSP P 3.0, 4.0 Ideal CT and Hamburg wheel track testing:
						2022			Lots 1A-3B (CT Index 105%): Bonus = 3% 10,000 TONS x \$50.6 x .03 = \$15,180.00
									Lots 3C-5D (CT Index 125%): Bonus = 3% 10,000 TONS x \$50.6 x .03 = \$15,180.00
									Lots 6A-7A (CT Index 109%): Bonus = 3% 4,438.7 TONS x \$50.6 x .03= \$6,737.95
									Total: \$37,097.95
				OTHR - Tota	al			\$132,738.09	
			Other Item Ad	justment - To	tal			\$221,294.95	
			Price FUEL		4	Jul 16, 2021	SYSTEM	\$27,272.57	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					5	Aug 3, 2021	SYSTEM	\$14,918.32	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					17	Feb 1, 2022	SYSTEM	\$0.10	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				\$42,190.99	
			Price FUEL - 1	Гotal				\$42,190.99	
	1880 -	· Total						\$263,485.94	
	1950	FLASHING ARROW PANEL	Overrun	Overrun	6	Aug 16, 2021	SYSTEM	(\$1,515.00)	
					14	Dec 16, 2021	SYSTEM	\$1,515.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',505.00000 - 505.00000, 'is applied (if non-zero).
				Overrun - T	otal			\$0.00	
			Overrun - Tota	al				\$0.00	
	1950 -	· Total						\$0.00	
	1960	SEQUENTIAL FLASHING	Overrun	Overrun	6	Aug 16, 2021	SYSTEM	(\$1,066.10)	
		FLASHING WARNING LIGHT			14	Dec 16, 2021	SYSTEM	\$1,066.10	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',76.15000 - 76.15000, 'is applied (if non-zero).
		Ove		Overrun - T	otal			\$0.00	
			Overrun - Tota	al				\$0.00	
	1960 -	Total						\$0.00	
	1980	TEMPORARY LONG-TERM RUMBLE	Overrun	Overrun	6	Aug 16, 2021	SYSTEM	(\$2,440.00)	
		STRIPS			14	Dec 16,	SYSTEM	\$2,440.00	Unit price based on averaged overrun adjustments for installed quantity on all



roject	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
P3268	1980	TEMPORARY LONG-TERM	Overrun	Overrun		2021			previous payment estimates. Price Adjustments of ',610.00000 - 610.00000, 'is applied (if non-zero).
		RUMBLE STRIPS		Overrun - T	otal			\$0.00	
			Overrun - Tota	al				\$0.00	
	1980 -	Total						\$0.00	
	2040	6 IN. WHITE HIGH BUILD WATERBORNE PAINT	Other Item Adjustment	REFL	18	Feb 15, 2022	fielda4	\$825.45	J7P3268 Retroreflectivity Adjustment Supporting documentation is saved in eProjects at: http://eprojects/Docs/7P3262/210219- G03_J7P3262_Est0018_Retroreflectivity_Payment_Adjustment_J7P3268.xlsm? d=w0cce0bc45c8a4734a68baf9799392449
				REFL - Tota	ıl			\$825.45	
			Other Item Ad	justment - To	otal			\$825.45	
	2040 -	Total						\$825.45	
	2050	6 IN. YELLOW HIGH BUILD WATERBORNE PAINT	Other Item Adjustment	REFL		Feb 15, 2022	fielda4	\$589.72	J7P3268 Retroreflectivity Adjustment Supporting documentation is saved in eProjects at: http://eprojects/Docs/7P3262/210219- G03_J7P3262_Est0018_Retroreflectivity_Payment_Adjustment_J7P3268.xlsm? d=w0cce0bc45c8a4734a68baf9799392449
				REFL - Tota	il			\$589.72	
			Other Item Ad	justment - To	otal			\$589.72	
	2050 -	Total						\$589.72	
	2100	BITUMINOUS SHOULDER RUMBLE STRIP	ER	Overrun	6	Aug 16, 2021	SYSTEM	(\$742.99)	
					14	Dec 16, 2021	SYSTEM	\$742.99	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',18.35000 - 18.35000, 'is applied (if non-zero).
				Overrun - T	otal			\$0.00	
			Overrun - Tota	al ————				\$0.00	
	2100 -							\$0.00	
	2115	GUARDRAIL TYPE A WITH RUBRAIL	Construction Stockpile		7	Sep 2, 2021	SYSTEM	(\$1,897.60)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$1,897.60)	
			Construction Construction Stockpile	Stockpile - 10	3	Jun 30, 2021	SYSTEM	(\$1,897.60) \$1,897.60	Payment Estimate Item Adjustment generated Stockpile Transaction
			STMI	- Total				\$1,897.60	
			Construction		MI - Total			\$1,897.60	
	2115 -	Total						\$0.00	
	2120	MGS GUARDRAIL	Construction Stockpile		6	Aug 16, 2021	SYSTEM	(\$46,270.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
					7	Sep 2, 2021	SYSTEM	(\$58,829.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
					8	Sep 15, 2021	SYSTEM	(\$6,610.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$111,709.00)	
			Construction	Stockpile - To	otal			(\$111,709.00)	
			Construction Stockpile STMI		3	Jun 30, 2021	SYSTEM	\$111,709.00	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				\$111,709.00	
			Construction	Stockpile STI	MI - Total			\$111,709.00	
			Overrun	Overrun		Sep 15, 2021	SYSTEM	(\$500.00)	
				Overrun - T	otal			(\$500.00)	
			Overrun - Tota	al				(\$500.00)	
	2120 -							(\$500.00)	
	2130	MGS BRIDGE APP. TRANS SEC (REG/NO	. TRANS Stockpile		6	Aug 16, 2021	SYSTEM	(\$9,906.00)	
		CURB)			7	Sep 2, 2021	SYSTEM	(\$9,906.00)	Payment Estimate Item Adjustment generated Stockpile Transaction



ct	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
68	2130	MGS BRIDGE APP. TRANS SEC (REG/NO	Construction Stockpile	- Total				(\$19,812.00)	
		CURB)	Construction	Stockpile - To	otal			(\$19,812.00)	
			Construction Stockpile STMI		3	Jun 30, 2021	SYSTEM	\$19,812.00	Payment Estimate Item Adjustment generated Stockpile Transaction
			OTIVII	- Total				\$19,812.00	
			Construction	Stockpile STI	MI - Total			\$19,812.00	
	2130 -	Total						\$0.00	
	2140	0 MGS HEIGHT AND BLOCK TRANSITION	Construction Stockpile		6	Aug 16, 2021	SYSTEM	(\$688.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$688.00)	
			Construction	Stockpile - To	otal			(\$688.00)	
			Construction Stockpile STMI		3	Jun 30, 2021	SYSTEM	\$688.00	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				\$688.00	
			Construction	Stockpile STI	MI - Total			\$688.00	
	2140 -	Total						\$0.00	
	2160	MGS END ANCHOR	Construction Stockpile		6	Aug 16, 2021	SYSTEM	(\$1,136.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
					7	Sep 2, 2021	SYSTEM	(\$5,112.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
					8	Sep 15, 2021	SYSTEM	(\$2,272.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total	12	Nov 16, 2021	SYSTEM	(\$1,136.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
			O a made madd a mad					(\$9,656.00)	
			Construction	Stockpile - To			a) (a===1.	(\$9,656.00)	
			Construction Stockpile STMI	Total	3	Jun 30, 2021	SYSTEM	\$9,656.00	Payment Estimate Item Adjustment generated Stockpile Transaction
			O a marking a file of	- Total	W. T-4-1			\$9,656.00	
			Construction	Stocкрие S I I	WII - I Otal			\$9,656.00	
	2160 -							\$0.00	
	2170	TYPE A CRASHWORTHY END TERMINAL	Construction Stockpile		6	Aug 16, 2021	SYSTEM	(\$15,544.44)	Payment Estimate Item Adjustment generated Stockpile Transaction
		(MASH))		8	Sep 2, 2021 Sep 15,	SYSTEM	(\$21,762.22)	Payment Estimate Item Adjustment generated Stockpile Transaction Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total	0	2021	STOTEM	(\$43,524.44)	r ayıneni Esumate nem Aujusuneni generateu Stockpile Transaction
			Construction		otal			(\$43,524.44)	
				Stockpile - 10	3	lun 30	SVSTEM		Payment Estimate Item Adjustment generated Steekeile Transaction
			Construction Stockpile STMI	- Total	3	Jun 30, 2021	SYSTEM	\$43,524.44 \$43,524.44	Payment Estimate Item Adjustment generated Stockpile Transaction
			Construction		MI - Total			\$43,524.44	
	2170	Total	Jonsti uction .	экоскрпе 511	Potal				
	2170 -				0		0)/2==:	\$0.00	
	2180	TYPE B CRASHWORTHY END TERMINAL	Construction Stockpile	Total	8	Sep 15, 2021	SYSTEM	(\$5,884.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
			0	- Total				(\$5,884.00)	
			Construction	этоскріїе - То			aa===	(\$5,884.00)	
			Construction Stockpile STMI		3	Jun 30, 2021	SYSTEM	\$5,884.00	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				\$5,884.00	
			Construction	Stockpile STI	WI - Total			\$5,884.00	
	2180 -							\$0.00	
Į		ANCHOR, ROCK			7	Sep 2,	SYSTEM	(\$1,067.40)	Payment Estimate Item Adjustment generated Stockpile Transaction
	2185		Construction Stockpile		,	2021			
	2185	ANCHOR, ROCK		- Total				(\$1,067.40) (\$1,067.40)	



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J7P3268	2185	GUARDRAIL ANCHOR, ROCK FACE	Construction Stockpile STMI		3	Jun 30, 2021	SYSTEM	\$1,067.40	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				\$1,067.40	
			Construction	Stockpile STI	/II - Total			\$1,067.40	
	2185 -	· Total						\$0.00	
J7P3268 -			a.i. ii					\$264,401.11	
J7S3189J	2290	BIT. PAVEMENT MIXTURE PG64-22 (BP-1)	Other Item Adjustment	ACAD	14	Dec 16, 2021	martijc	\$3,341.53	Current index: 487.5 Base Index: 415 Difference: 72.5
									72.5 x 853.52 x 0.54 = \$-3,341.53
				ACAD - Tota				\$3,341.53	
			Other Item Ad					\$3,341.53	
			Overrun	Overrun	17	Dec 16, 2021	SYSTEM	(\$1,406.86)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					17	Feb 1, 2022	SYSTEM	\$1.07	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',53.65599 - 51.00000, 'is applied (if non-zero).
				Overrun - To	otal			(\$1,405.79)	
			Overrun - Tota	al				(\$1,405.79)	
			Price FUEL		14	Dec 16, 2021	SYSTEM	\$2,266.95	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				Total	17	Feb 1, 2022	SYSTEM	(\$0.05) \$2,266.90	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
			Price FUEL - 1	- Total				\$2,266.90	
	2290 -	Total	FIICE FUEL - I	Otal				\$4,202.64	
	2300	MISC.	Other Item	ACAD	10	Oct 18,	martijc	\$6,248.38	For paving between 10/01-10/15 martijc
			Adjustment			2021	,		Base Index: 415
									Current Index: 490
									Difference: 75
					4.4	D - 10		00.457.04	75 x 1542.81 x .054 = \$6,248.38
					14	Dec 16, 2021	martijc	\$6,457.64	Current index: 490 Base Index: 415 Difference: 75
									75 x 1594.48 x 0.54 = \$6,457.64
				ACAD - Tota	al			\$12,706.02	
				OTHR	18	Feb 15, 2022	fielda4	\$1,350.36	J7S3189J IRI Bonus
									See IRI summary sheet for further breakdown NB Driving Lane: \$492.28 SB Driving Lane: \$858.08
									Total: \$1,350.36
				OTHR - Tota	al			\$1,350.36	
			Other Item Ad	justment - To	tal			\$14,056.38	
			Overrun	Overrun		Dec 16, 2021	SYSTEM	(\$1,665.12)	
					17	Feb 1, 2022	SYSTEM	(\$0.56)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
			Out a marrier Total	Overrun - To	otal			(\$1,665.68)	
			Overrun - Tota	al	10	Oct 18,	SYSTEM	(\$1,665.68)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
			- HOG FUEL		14	Dec 16,	SYSTEM	\$4,097.70 \$4,234.94	Reference Item Price Adjustment Index Adjustment Type applied is FUEL Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					17	2021 Feb 1,	SYSTEM	\$0.02	Reference Item Price Adjustment Index Adjustment Type applied is TUEL
						2022			, , , , , , ,
				- Total				\$8,332.66	
	2200	Total	Price FUEL - 1	otal				\$8,332.66	
	2300 -	otal						\$20,723.36	



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J7S3189J	2310	TACK COAT	Overrun	Overrun	17	Feb 1, 2022	SYSTEM	(\$1,317.47)	
				Overrun - To	otal			(\$1,317.47)	
			Overrun - Tota	ıl				(\$1,317.47)	
	2310 -	Total						(\$1,317.47)	
	2400	4 IN. WHITE WATERBORNE PAVEMENT	Other Item Adjustment	REFL	17	Feb 1, 2022	martijc	\$47.36	Retroreflectivity payment adjustment sheet can be found in eProjects.
		MARKING		REFL - Tota				\$47.36	
			Other Item Ad	justment - To	tal			\$47.36	
	2400 -	Total						\$47.36	
	2410	4 IN. YELLOW WATERBORNE PAVEMENT MARKING	Other Item Adjustment	REFL	18	Feb 15, 2022	fielda4	\$133.23	J7S3189J Retroreflectivity Adjustment Supporting documentation is saved in eProjects at: http://eprojects/Docs/7P3262/210219- G03_J7P3262_Est0018_Retroreflectivity_Payment_Adjustment_J7S3189J.xlsm? d=w3cb94ce7c2364308b4321cc86a6f50bd
				REFL - Tota				\$133.23	
			Other Item Ad	justment - To	tal			\$133.23	
	2410 -	Total						\$133.23	
	2500	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN	Construction Stockpile		12	Nov 16, 2021	SYSTEM	(\$4,920.50)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$4,920.50)	
			Construction	Stockpile - To	tal			(\$4,920.50)	
			Construction Stockpile STMI		3	Jun 30, 2021	SYSTEM	\$4,920.50	Payment Estimate Item Adjustment generated Stockpile Transaction
			STIVII	- Total				\$4,920.50	
			Construction	Stockpile STN	/II - Total			\$4,920.50	
	2500 -	Total						\$0.00	
	2510	MGS BRIDGE APP. TRANS SEC (REG/NO CURB)	Construction Stockpile		12	Nov 16, 2021	SYSTEM	(\$6,604.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$6,604.00)	
			Construction	Stockpile - To	tal			(\$6,604.00)	
			Construction Stockpile STMI		3	Jun 30, 2021	SYSTEM	\$6,604.00	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				\$6,604.00	
			Construction	Stockpile STN	II - Total			\$6,604.00	
	2510 -							\$0.00	
	2520	TYPE A CRASHWORTHY END TERMINAL	Construction Stockpile		12	Nov 16, 2021	SYSTEM	(\$6,209.78)	Payment Estimate Item Adjustment generated Stockpile Transaction
		(MASH)		- Total				(\$6,209.78)	
			Construction	Stockpile - To	tal			(\$6,209.78)	
			Construction Stockpile STMI		3	Jun 30, 2021	SYSTEM	\$6,209.78	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				\$6,209.78	
			Construction	Stockpile STN	II - Total			\$6,209.78	
	2520 -	Total						\$0.00	
J7S3189J -	Total							\$23,789.12	
Overall - T	otal							\$710,927.01	